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Set0l Answers for No.9395
areal = {8,9}

Ans4 =

X [Page = 0001]

AU B={1,2,57912,13,15}
AN B={213}

A U B'=1{2,3,45,6,810,11,12,13, 14}
BnA={1,7915}
A-B=1{512}

B —A4=1{3,4,6,8,10, 11, 14}

(4 U B)=1{3,4,6,8,10,11, 14}

A N B'=(3,4,6,810,11,14}

, Ans5 =

(4-B)=1{1,2,3,4,6,7,8,9,10,11, 13, 14, 15} ]

e — 14, 13) n(4d N B)=2  n(4 U B)=8
Ansl =| .1 = are(;;f {‘5 71 4y p2E| A=B)=2 n(U=(4 U B))=3
wread - 6.10.12) n(B-A4)=4 Math@MUT
areal = {22:3{, 7}j 12} n(A A B)=0 n(A U B)=7
Ans2=| 1= arezgef‘{I 011 2=| nA-BI=4 n(U-(4© B))=5
aread = {4,5,6,8, 10} n(B-4)=3 Math@MUT
i areal = {1,5} i 1
area? = {15} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {11} n(union(4, B, C)) = 11 n(B-A4)=2
| | areat=1{4} S n(4 N B)=2 n(C N (4 U B))=3
3= areas={2) |7 n(B N C)=2 n(C U (4 N B))=8
area6 = {14} n(4 v C)=10 n(intersect(4, B, C)) = 14
area7 ={3,8,12,13} n(B v C)=9 Math@MUT
L L area8 =1{6,7,9,10} | ]

A=(4 N B={area?})
2=(A-B={areal })
3= (A' U B'= {areal, area3, area4 })
4= (C’ = {areal, area2, area3, areal8 })
S=(B v (4 n C)={area2, area3, aread, areal, area6 })

6=((4 v B) n (B v C)={area2, area3, area4, area’s, area6 })

7=((C—-4) n (C-B)={area7})
8= (B’—Arz {areal, aread })
.9:(C’ N (B—A)/: {areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9419

[areal = {4,9,10, 11,14} ]

area? = {5} n(4d N B)=1 n(4 U B)=38
Ansl =| .1 = area3 = (6,13} ,.2=| n(4-B)=5 n(U-(4 v B))=3
I | wread=1{7.8.12} | L n(B-A4)=2 Math@MUT 4]
area]c;’jat S{Z}g’ 103 n(4d n B)=0 n(4d v B)=38
Ans2=| .1 = area3={1,5.9} ,.2=| n(4-B)=5 n(U-(4 v B))=5
L laread= 12,3, 11,12,13) LB -A=3 Math@MUT ] |
[ [ areal = {14, 15,16} | |
area2 = {10} n(intersect(4, B, C))=0 n(4A-B)=4
area3 =1{3,9,11,17} n(union(4, B, C)) =12 n(B-A4)=5
nsi<| 12 aread = {12} . n(4d N B)=1 n(C N (4 v B))=2
areas = { } i nBnNC)=1 n(Cu (4 nB))=5
area6 = {13} n(d v C)=8 n(intersect(4, B, C) )= 16
area7 = {4,5} n(Bu C)=9 Math@MUT
L L area8=1{2,6,7,8} | ]
4V B={2,3,4,8,9,10,13, 14,16} [ A=(4 v B={areal, area2, area3})
, 40 B=113; 2=(B —A={aread})
A v B={2,35,6,7,9,10,11,12,13, 14,15} 3=((A4-B) U (B—A)={areal, area3})
BN A= {4,8,16} A4=(A v C={areal, area2, aread, areas, area6, area7 })
Ansd = A-B={2,3,9,10, 14} . Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B-A= {5,6,7,11,12,15} 6=((4 U B) n (B v C)={areal, area3, area4, areal, area6 })
(4 U B)’: {5,6,7,11,12,15} 7=((C—-4) v (C—-B)={area4, areab, area7 })
A4 A B=1{56,711,1215 8=(A4 - B = {area3, areat })
| (4-B)=1{4,5,6,7,8,11,12,13,15,16} | L 9=(C N (B-A) = {areal, area2, area8 }) _
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Set0l Answers for No.9428

areal = {3,5}
areal = {4}
area3={2,6,7,10,12} [~
area4 = {1,8,9,11}

n(d N B)=1 n(4d v B)=38
2= n(4-B)=2 n(U-(4 v B))=4
n(B-4)=>5 Math@MUT

Ansl =| .1 =

areal = {3, 11} n(4 A B)=3  n(4 U B)=9
Ans2=| .1 = arigai?z{,ls’fé,sé} L 2=| n(4-B)=2 n(U-(4 U B))=4
aread = (7.9, 10,12} n(B-A4)=4 Math@MUT |
[ areal = {15} ] . ]
area? = {4,8} n(intersect(A4, B, C)) =0 n(4-B)=2
area3=1{5,7} n(union(4, B, C)) =8 n(B-A4)=3
ns3=| 1= aread = {9} . n(d N B)=2 n(C N (4uvB))=2
areas = { } i n(B N C)=1 n(C v (4 nB))=5
areab = {11} n(d v C)=6 n(intersect(4, B, C) )= 13
area7 = {13} L n(Bu C)=7 Math@MUT
L Larea8 = {3, 6,10, 12, 14} | ]
AU B=1{4,56,910,11,12,13} | i A=(A4 N B={area2}) 1
4 n B=1{9,12,13} 2=(A—-B={areal })
AU B'={37,80911,1213} 3=(A" U B = {areal, area3, aread })
Bnd= 14.5,6,10} 4= (A': {area3, area6, area7, area8 })
Ans4 = A-B={11} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B -A= {3,7,8} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
(4 v B)': {3,7,8} 7=((B—-4) U (B-C)={area2, area3, areab })
A N B={3728} 8=(C - B = {area2, area3})
_(A—B)':{3,4, 5,6,7,8,9,10,12,13} L .9:((B—C)’—A':{area1, aread, areal }) i
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Set0l Answers for No.9459

r“re;f;{i}b} n(4 N B)=2  n(4u B)=5
Ansl =| 1= “a::a3‘_{5’ ) 2= n(4-B)=1 n(U-(4 U B))=6
aread=1{1,2,3,4,8, 11} n(B-4)=2 Math@MUT
“’;"f{:jﬁgl}” n(4 N B)=3  n(4 U B)=9
Ans2=| 1= 2:223:{1’5’67} 2= n(4-B)=2 n(U-(4 U B))=5
aread = {0,3,9, 11,12} n(B-4)=4 Math@MUT
[ [ areal=1(3,6,8,17} ] l
area? = {9} n(intersect(4, B, C))=0 n(4d-B)=6
area3={ } n(union(4, B, C)) =10 n(B-4)=2
s | 1o aread = {5, 11} S n(4 N B)=1 n(C (4 B))=4
mI= AT areas=1{ } ol = n(B A C)=2 n(C U (4 N B))=6
areab = {14,16} n(4 v C)=10 n(intersect(4, B, C)) =16
area7 = {2} n(Bu C)=6 Math@MUT
L Larea8 = {4,7,10, 12,13, 15} ] ]

[ 4 U B= {2,5,6,7,10,11, 12,13} [ A =(A4 v B={areal, area2, area3})

4 N B={13} 2=(A-B={area2?)
4 v B={3,42891011,12,13,14} 3=((4 U B) = {aread})
B nA={2567} .4=(B’: {areal, area4, area7, area8 })

S5=(C U (4 n B)={area2, area4, area$5, areab, area?7 })
O6=((4 v C) n (B v C)={area2, aread, area’, area6, area?7})
7=((A-B) n (A-C)={areal })
8=(B-4= {areal, aread })
.9=((B—A)’— C= {aread, area$, area7}) ]

A-B=1{10,11,12}  Ans5 =
B —A=1{3,4,8,9,14}
(4 U B)=1{3,4,8,9, 14}
A N B'=(3,4,8,9,14}

L (A-B)=1{2,3,4,5,6,7,8,9, 13, 14} | L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

Ans4 =

X [Page = 0004]




Ans4 =
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Set0l Answers for No.9476

areal = {6} 04N B)=2  n(duU B)=7
dnsi=| 1= e@?=iS 100 A B)=1 n(U—(4 U B))=5
area3 ={3,7,9, 13} n(B-A)=4 Math@MUT
aread = {2,4,8,11,12}
areal ={ } n(d N B)=3 n(du B)=7
Ans2 =| .1 = area2=1{3,9, 11} ,.2=| n(4-B)=0 n(U-(4 U B))=8
area3 =1{0,7,10, 12} n(B—A)=4 Math@MUT
aread =1{1,2,4,5,6,8, 13, 14}
[ areal = {5,15} ) )
area2 = {10} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {8} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {14} 2 n(4d N B)=1 n(C N (4 v B))=2
' area5=1{} > nB n C)=1 n(C U (4N B)=38
areab = {2} n(4 u C)=10 n(intersect(4, B, C)) = 15
area7 ={4,6,9,12,13} n(B v C)=9 Math@MUT
L L area8={1,3,7,11} | ]
A v B={3,4,5,6,7,8,9,10,11,12} 1l :(B': {areal, aread})
40 B=1{6,8} 2=(B-A={area3})
4V B= {6"8, 9,10,11,13, 14,15} 3=0(4 n B)'= {areal, area3, area4 })
BN A={3,45712} .4:(B,= {areal, area4, area7, area8 })
4-B={9,10,11} , Ans5 = S=(B N (4 v C)={areal, areas, area6})

B —A={13,14,15}
(4 U B)=1{13,14,15}
A~ B'=1{13,14,15}

L(A-B)=13,4,5,6,7,8,12,13, 14, 15}

6=((4 N B) U (B N C)={areal, area’, areat })
7=((C-4) v (C-B)={area4, areab, area7 })
8= (A' U C= {areal, area2, area3, areab, area7, area8})
9= ((C—A)’—Brz {area2, area3, area’ })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9491

“rer“;_{{é’ﬁ} ndnB)=1 nduUB)=8
Ansl =| 1= areas = 2= n(4-B)=2 n(U-(4 U B))=5
area3 ={1,4,7,9,11} n(B-A)=5 Math@MUT
aread = 10,3, 5,10, 12} - a ]
“realzfi’f’gl}s} n(d N B)=2 n(du B)=7
Ans2=| 1= a“:eea“3_‘{5’13} ,.2=| n(4-B)=3 n(U-(4 U B))=5
aread = {7,10, 11, 12, 14} n(B-4)=2 Math@MUT
i areal = {3,8, 14} i i
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {2,10, 12} n(union(4, B, C)) =11 n(B-A)=4
= A B)=0 C A B))=1
ns3—=| 17— aread = { } o= n(4 N B) n(C N (4 v B))
area’ = { } n(B N C)=1 n(Cu (4 nB))=5
area6= {1} n(d4d v C)=8 n(intersect(4, B, C)) =17
area7 = {4,11, 13,17} n(B U C)=8 Math@MUT
L Larea8 = {5,6,7,9, 15,16} ]
4V B={47,8,12,13,14,16, 17} 1 [ 1 =(A v B={areal, area2, area3})
4 N B={12} 2=(A' - B={aread})
4 v B=1{4,5,6,9,10,11,12,15,16} 3=((4 U B) ={aread})
B N A=1{7313,14,17} .4:(C,= {areal, area2, area3, area8 })
Ansd = A-B={4,16} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area5, area6 })

B —4=1{5,6,9,10,11,15}
(4 U B)=1{5,6,9,10,11,15}

A N B={56,91011,15}
[(4-B)=1{5,6,7,8,9,10, 11, 12,13, 14,15, 17} |

X [Page = 0006]

6=((4 v B) n (4 v C)={areal, area?, area4, area’, areat6 })
7=((C—-4) n (C-B)={area7})
8= (A' U B'= {areal, area3, area4, areab, area7, area8 })
9= ((C—A)’—Brz {area2, area3, area’ })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9633

areal = {4,8,11,13}

area2 = {10} n(4d N B)=1 n(4 U B)=10

Ansl =| .1 = L .2=| n(4-B)=4 n(U-(4 U B))=3
area3=1{6,7,9,12,15} _
aread = {3, 5, 14} n(B-4)=5 Math@MUT
“’eglf{gzs}} n(d N B)=2  n(4du B)=7
Ans2=| 1= areas =1, 2= n(4-B)=1 n(U—-(4 U B))=7

area3 =1{6,9,10, 12}

aread = {1,4,7,8,11, 13, 14} n(B-d)=4 Math@MUT
[ areal = {9,13,15} | il
area? = {5} n(intersect(4, B, C)) =0 n(4A-B)=6
area3={6,11,16} n(union(4, B, C)) =10 n(B-—A4)=3
Ans3—| 1= aread = {2,8,12} . n(4d N B)=1 n(C N (4 v B))=3
area’ = { } i n(B N C)=0 n(Cu (4 nB))=4
area6={ } nd u C)=7 n(intersect(4, B, C) )= 16
area7 = { } nBu C)=7 Math@MUT
L Larea8 = {3,4,7,10, 14,17} | ]
A v B={2,4,7,10,11,12,14,16} ] [ 1 =(A4 v B={areal, area2, area3 })
' AN B=1{10,16} 2=(A'-B={aread?)
AV B={23,45,6,7,8910,12,13,15,16} 3=((4 U B) ={aread})
Bnd= {11, 14} 4= (C’: {areal, area2, area3, area8 })
Ansd = A4-B={2,4,7,12} , AnsS = 5=(C U (A4 N B)={area2, aread, area’, area6, area?7})
B—4= {3,5,6,8,9,13,15} O6=((4 v C) N (B vy C)={area2, aread, area’, areab, area7 })
(4 v B)’: {3,5,6,8,9,13,15} 7=((C—-4) v (C-B)={area4, areab, area7 })
A n B'=(3,56,8,91315} 8=(C -4 = {areal, areal})
L (4 —B)': {3,5,6,8,9,10, 11, 13,14, 15,16} | L 9=(B N (4 —C)’= {area3, area5, area6}) ]
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Set0l Answers for No.9711

areal = {6,11, 14,15}

area2 = {7} n(4d N B)=1 n(4d v B)=7

Ansl =| .1 = area3 = (5. 12 ,.2=| n(4d-B)=4 n(U-(4 v B))=6
aread = {4, 8, {9, 10, 1}3, 16} n(B-4)=2 Math@MUT
areal = {4,5,7,9,10, 11} N4~ B)=1 n(4 U B)=10
Ans2=| .1 = ar:;jffof;7}3} L 2=| n(4-B)=6 n(U—(4 U B))=2
aread = (6,8} n(B-A4)=3 Math@MUT
[ areal = {7,15} ] i
area? = {13} n(intersect(4, B, C)) =0 n(4A-B)=2
area3=1{2,4,5,9} n(union(4, B, C)) =11 n(B-4)=6
ns3—| 1 aread = { } . n(4d N B)=1 n(C N (4uvB))=2
area’ = { } i nB N C)=2 n(Cu (4 nB))=5
area6 = {10, 11} n4d v C)=7 n(intersect( A4, B, C)/) =17
area7 = {3,14} n(Bu C)=9 Math@MUT
L Larea8={1,6,8,12,16, 17} | ]
A v B={5,6,8,9,10,12,13, 14} ] [ A=(4 N B={area2}) 1
' 4N B={6} 2=(A-B={areal })
4V B=1{23,45,6728,11,13} 3=((4 N B) = {areal, area3, aread})
Bn A= {9, 10,12, 14} 4=(4 v C={areal, area2, area4, area5, areab, area7 })
Ans4 = A-B={5,8,13} . Ans5 = S5=(C U (4 n B)={area2, area4, area$, areab, area?7})
B-A= {2,3,4,7, 11} 6=((4 v C) n (B U C)={area2, aread, areas, areab, area?7 })
(4 U B)=1{2,3,4,7, 11} 7=((A-B) U (A4-C)={areal, area?, area4 })
A'mB':{2,3,4,7,11} ,8=(B'—C':{area4,area7})
L(4-B)=1{2,3,4,6,7,9,10, 11,12, 14} ] L 9=(B n (C-A) ={areal, aread, areas8 }) |

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXXXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKXKXKKXKKKXKXKKXKXKKKKKXKKKKK KK KX KKK KK KK KKK KK KK KKK KKK KK KKK KK KK KKK KK KKKKK



DGRV R NCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:9.6:0.0.0:0.0:6:0.0 ¢ | : WAL T L NN O N 010 Jo [0 1°) 0 ¢
Set0l Answers for No.9784

areal;{z,lg} n(4d N B)=1
Ansl=| 1= areas=

n(4d v B)=6
area3 = (2. 6. 11 ,.2=| n(4-B)=2 n(U-(4 v B))=7
aread = {3,4,{5, 8,9, 1}6, 14} n(B-4)=3 Math@MUT
areal = { } n(4 n B)=4  n(d U B)=7
Ans2=| .1 = “’6”23:_{{2’15;7’69}} L 2=| n(4-B)=0 n(U-(4 U B))=4
area;ja: {_3, $.10, 11} n(B-4)=3 Math@MUT
[ [ areal = { } ) i
area? = {17} n(intersect(4, B, C))=0 n(d-B)=2
area3 = {5,8, 14,18} n(union(4, B, C)) =11 n(B-4)=6
ansi=| 12 aread = {6,12} . n(4d N B)=1 n(C N (4 v B))=4
areas = { } i n(B N C)=2 n(Cu (4 nB)=7
area6 = {1, 13} nd v C)=7 n(intersect(4, B, C)) =18
area7 = {10, 15} n(B v C)=11 Math@MUT
L Larea8 ={2,3,4,7,9, 11,16} ] ]
A v B={1,2,3,4,6,11,12,13} 1 =(A v B={areal, area2, area3})
A0 B={2611} 2=(A' - B={aread})
Av B={1,2,56,7,8,9,10,11, 12,13} 3=((4 U B) = {aread})
BnA= 13,4} .4=(A’= {area3, areab, area7, area8 })
Ansd = A-B={1,12,13} , Ans5 = S5=(4 N (B v C)={area2, aread, area’ })
B—4= {5,7,8,9,10} O6=((4 N B) U (4 n C)={areal, area4, areal })
(4 U B)=1{5,7,8,9,10} 7=((C—-4) n (C-B)={area’})
A N B={5178,910} 8=(4 n C={area3, area8})
L (A—B)':{2,3,4,5,6,7,8,9, 10,11} | L .9=((C—B)’—A={area3,area6,area8}) ]
S QLIRS D 0'0:6:0:0:0:6:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0.0:0.0.0:0:0:0.0:0:0:0.0:0:0:0.0.0:0.0.0:0:0:0:0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0:0:0.0:0:0'0:0:0:0:0:0:0:0:0:0:0:0'0:0::0:0:0:0:0'
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Set0l Answers for No.10048

areal = {3,7,11} n(4d N B)=1 n(4d U B)=6

Ansl =| .1 = afgjiz_:{fg} ,.2=| n(4-B)=3 n(U—-(4 U B))=5
aread={1,5,6,9, 10} n(B-4)=2 Math@MUT
“”“254{’71‘?} n(d N B)=1 n(4du B)=8
Ans2=| 1= areaz = ,2=| n(4-B)=2 n(U-(4 U B))=1

area3 ={8,9,11, 15,17}

aread = {3,5,6,10, 12, 13, 14} n(B-4)=3 Math@MUT
[ areal = {11} ] ]
area? = {1} n(intersect(4, B, C)) =1 n(4d-B)=1
area3 ={7,9} n(union(4, B, C)) =10 n(B-A4)=2
ns3=| 17— aread = { } P n(4d N B)=2 n(CnNn((4uvB))=1
' area5 = {12} o n(B N C)=1 n(Cu (4N B)=7
area6 = { } n(d v C)=38 n(intersect(4, B, C)) = 15
area7 ={2,3,6,8,14} n(Bu C)=9 Math@MUT
L Larea8 = {0, 4, 5, 10, 13, 15} ] ]
AUB:{O’3’4’7’859>10} [ .I=(AmB:{area2})
AN B={9} 2=(B ~A4'={areal })
AvuU B={1,2,3,56,7,9} 3=((A-B)n (B-A)={})
Bnd= 10,4,8,10} .4:(3/: {areal, area4, area7, aread })
Ans4 = A-B={3,7} , AnsS = S=(A4 n (B v C)={areal, aread, area5})
B-A= {1,2,5,6} 6=((4 N B) U (4 n C)={area2, aread, aread})
4 v B)':{1,2, 5,6} J=((B-4) U (B-C)={area, area3, areab})
A N B=1{1,256} 8=(B - C'={aread, area7})
_(A—B)':{0,1,2,4, 5,6,8,9,10} ] L .9:((C—A)'—B/:{area2,area3, areal }) ]
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Set0l Answers for No.10143

areal = {3, 8} nd nB)y=1 n(4du B)=8
Ansl =| 1= area2 = {3} 2=| n(4-B)=2 n(U-(4 U B))=5
area3=1{2,4,7,9,13} nB-A4)=5 Math@MUT
aread4 = {1,6,10, 11, 12}
“’2‘{22{36’ 81}0 n(d N B)=3  n(4d U B)=9
dns2=| 1= 0‘122“3:‘{{0’5 : 9}} 22| n(4-B)=2 n(U—-(4 U B))=3
aread {1” ‘;’ 1’1} n(B-4)=4 Math@MUT
i areal = {1,7,8} i i
area = {14} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {15} n(union(4, B, C)) =10 n(B-—A4)=2
dnsi<| 12 area4 = {5,13} 2o n(4d N B)=2 n(C N (4 v B))=4
' aread = {9} . n(B N C)=2 n(Cu (4 n B))=6
area6 = {10} n(d4d v C)=9 n(intersect(4, B, C)) = 14
area7 = {4} n(Bu C)=7 Math@MUT
L Larea8 = {2,3,6,11, 12} i
A v B=1{2,3,4,5,9,12,13,15} 1 =(B = {areal, aread})
, 4~ B={12,13,15} .2=(B—A,={area2})
AV B={3,506,7, 8,'9, 10, 11,12, 13, 14, 15} 3=((4-B) U (B—A)={areal, area3})
B nA={24} .4=(B’= {areal, area4, area7, area8 })
Ans4 = 4-B={3,59} , Ans5= S5=(4 v (B n C)={areal, areal, aread, area5, area6 })
B'—A4=1{6,7,8,10,11, 14} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 } )
(4 U B)=1{6,7,8,10,11, 14} 7=((C—-4) n (C-B)={area7})
A~ B={6,7,810,11,14} 8=(A4 - C = {area6, area7})
L (A—B)':{2,4, 6,7,8,10,11, 12,13, 14,15} | L ,9=((C—B)’—A={area3, areab, area8}) |
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Set0l Answers for No.10359
areal = {3,5,10}

area? ={ } n(4 N B)=0 n(d v B)=7

Ansl =| .1 = area3:{6,8,11,12}"2: n(d-B)=3 n(U-(4 U B))=5
aread = {1.2.4,7,91 n(B-4)=4 Math@MUT
area1={5,2718,193:11,15} N4~ B)=1 n(A U B)=9
Ans2=| .1 = afer:‘;:‘{i 16}} L 2=| n(4-B)=6 n(U-(4 U B))=5
aread = {6, 10,12, 14, 17} n(B-4)=2 Math@MUT
[ [ areal=1{3,4,11,13} | |
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 ={2,5,7,8,10} n(union(4, B, C)) =12 n(B-4)=6
ansi<| 12 aread = {12} . n(4d N B)=0 n(C N (4 U B))=2
' area5=1{} e n(B N C)=1 n(C U (4 n B))=3
area6= {14} nd v C)=7 n(intersect(4, B, C)) =16
area7 = {15} n(Bu C)=8 Math@MUT
L L area8=1{0,1,6,9} | ]
4w B={2,5717,8910,13,14} [ A =(A4 v B={areal, area2, area3})
4 N B={5,9,10,13} 2=(A-B={areal })
AU B={0,1,2,3,4,567,9,10,11,12,13, 14} 3=((A4-B) v (B—A)={areal,area3})
BN A= {8} 4= (C'= {areal, area2, area3, area8 })
Ansd = A-B={2,7,14} . Ans5 = S5=(C v (A n B)={area2, area4, area’, areab, area?7})
B-A= {0,1,3,4,06,11,12} 6=((4 v C) n (B v C)={area2, aread, area’, area6, area7 })
(4 U B)=1{0,1,3,4,6,11,12} 47=((B—,A) 2 (B-C)={area3})
A n B'={0,1,3,4,6,11,12} -8=(B —A = {areal, aread })
L (4-B)=1{0,1,3,4,5,6,8,9,10,11,12,13} | L 9=((4-B) - C={area2, area3, area8 } ) i
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Set0l Answers for No.10626

‘”e‘”r: 29_ 10’}12} (4 A B)=0  n(4 U B)=8
Ansl =| 1= aredzs = 2=| n(4-B)=3 n(U-(4 U B))=5
area3 ={3,4, 11,13, 14} n(B-A)=S5 Math@MUT
L L areat=1{2,5,6,7,8y 1 - - “ -]
areal = {455,’{6’71}3’ 133 n(4 A B)=1 n(4 U B)=9
Ans2=| 1= are;;e_“{;lo 4y [2=| MA4-B)=5 n(U=(4 L B)=5
| laread=18,9. 11,12, 161  -NB-A=3 Math@MUT |
[ areal = {2} ) |
area? = {12, 17} n(intersect(A4, B, C)) =1 n(d-B)=1
area3 = {4,7,9,10} n(union(4, B, C)) =13 nB-A)=4
- AN B)=3 Cn(4uUB)=1
ns3=| 12 aread ={ } 2= n(4 N B) n(C n (4 v B))
aread = {1} nBnNC)=1 n(Cu (4 nB))=38
areab = { } n4d v C)=9 n(intersect(4, B, C)'): 16
area7 =1{5,6,8,13, 14} n(B v C)=12 Math@MUT
L L area8=1{3,11,15,16} | J

(4 U B=1{4,6,7,8,9,11,12,13, 14,16} |
A N B=1{6,14}

AU B'=1{56728,91011,14,15,16}
B N A=1{41213}
A-B=1{7,8,9,11,16}

B —A={5,10,15}

d=(A4 N B={area2})
2=(B—-A4={area3})
3=((4 U B) ={aread})
4= (A' = {area3, area6, area7, area8 })
S=(B N (4 v C)={area2, area$, area6})

6=((4 N B) U (B n C)={area2, areas, area6 })
(4 UB)’:{S, 10, 15} 7=((C—-4) n (C-B)={area7})
A N B'=1{51015} 8=(A4' - C = {area6, area7})

L (A-B)=1{4,5,6,10,12,13,14,15} | L 9=((C—-A4) —B={areal, aread, area8 }) i
):9:9:0.:9:9:9.0.9:9:9.0.9.9:9.0:0.9:9.0:0:0.9.0:0.9:0.0.0.9.9.0.0.9.9.0.0:0.0.0,0.9.0.0,0.:0.0.0:0.0.0:0:0:0.0:0.0.0.0:0:0.0.0.0:0.0.0.0:9.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0.0.9.0.0:0.0.0.0:0.9.0.0.0.:0.0.0.0:0.0.0.0:0.0.0:0.0.0.0:0.0.0:0.:0.0.9.0.:0.0.0.0.0.0.0.0:¢

Ans4 = , Ans5 =
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[Page 0014]

Ans4 =

areal = {5,7,12}

v n(4 N B)=1  n(4 U B)=6
Ansl=| .1 = a“rr;“32_‘{{8“9}} ,.2=| n(4-B)=3 n(U-(4 U B))=5
aread = {2,3,4,6,10} n(B-4)=2 Math@MUT
“realzz{f’{fbl}“ n(4 nB)=1 n(4uU B)=8
Ans2=| .1 = arege_“{2‘3 013 [2=| nA-B)=3 n(U-(4 U B)=6
aread = {1,6,7,8, 11,12} n(B-A)=4 Math@MUT
[ [areal ={1,13, 14, 16, 18 }] |
area2 = {9, 11} n(intersect(4, B, C)) =0 n(4d-B)=5
area3=1{3,6,7} n(union(4, B, C))=13 n(B-A4)=4

ansi<| 1< aread = { } /. n(4 N B)=2 n(C N (4uvB))=1
) area5=1{} - nBn C)=1 n(C U (4 N B))=5
area6 = {15} n(4 v C)=10 n(intersect(A4, B, C)'): 18
area7 = {4, 8} n(Bu C)=8 Math@MUT
L L area8 =142,5,10,12,17} | i
AV B=1{5,6,8,9,11,14,15,16, 17,18} [ 1 =(B = {areal, aread})
, 4N B={18} .2:(BV—A:{area4})
AU B={4,6,7,9, 19, 11,12, 13, 14, 15, 16, 18} 3=((4 U B) = {aread})
B nA4={532817} 4=(B n C={area$, area6})
A4-B=1{6,9,11,14,15,16} , Ans5 = S5=(C n (4 v B)={area4, area$, area6 })

B —A=1{4,7,10,12,13}
(4 U B)=1{4,7,10,12,13}
A~ B'={4,7,10,12,13}

(A-B)=1{4,5,7,8,10,12, 13,17, 18}

6=((4 N C) U (B n C)={aread, areas, areat})
7=((C—-4) u (C—-B)={aread, areab, area7 })
8=(4'-C = {areab, area7})
.9=((A-B) - C = {area5, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11188

“regl_: 269} nd N B)=2  n(4du B)=7
Ansl =| 1= arefgi {‘3’{5”7,}11} 2= n(4-B)=1 n(U-(4 U B))=6
aread = {1,2, 4,10, 12, 13} n(B-4)=4 Math@MUT
areal = {3,9, 10} n(d n B)=0  n(4 U B)=8
Ans2=| .1 = areal ={ } L 2=| n(4-B)=3 n(U—-(4 U B))=7
area3=1{6,7,8,14,17} n(B—A)=5 Math@MUT
aread = {4,5,11, 12,13, 15, 16}
i areal = {4,5} ) |
area = { } [n(intersect(4, B, C)) =2 n(4d-B)=2
area3 ={3,16} n(union(4, B, C)) =11 n(B-A4)=4
nsi<| 12 aread = { } 5 nd N B)=2 n(C N ((4v B))=4
' area5=1{7,9} u n(B N C)=4 n(Cu (4 nB))=7
area6 = {6, 13} n4 v C)=9 n(intersect(4, B, C)'): 13
area7 = {11,14,15} L n(Bu C)=9 Math@MUT
L Larea8 = {2, 8,10, 12} ]
AUB:{6,7,8,9,10,11} [ .I:(AmB:{area2}) ]
AN B=1{9} 2=(A =B ={area3)
4 VU B={2, 3’43 5,6,9,10, 11,12} .3=(A' U B'= {areal, area3, area4 })
B nA4={728} 4=(A N B={area2, area5})
Ans4 = A-B=1{6,10,11} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B -4= {2,3,4,5,12} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 U B)=1{2,3,4,512} 7=((B-A4) U (B-C)={area2, area3, area6})
A~ B'=1{23,4,512} 8=(4 ~ B'={area7,area8})
L (4-B)=1{2,3,4,5,7,8,9,12} | L .9:((C—A)'—B:{area],area4,area8}) ]
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Set0l Answers for No.11505

Ans4 =

X [Page = 0016]

areal = {1,2,11}
area? = {5}

Ansl =\ 1= area3 ={0,3,4,9}
area4 =1{6,7,8,10,12}
areal = {6,10,11, 12,13
area? ={9, 15}
Ans2=\T=1 a3 = (5.8, 16}
aread = {3,4,7,14}
i areal = {2,7,8} i
areal = {4}
area3 =1{9,13,16,17}
area4 = {6}
Ans3 =| .1 = areas = {10} , .2 =
area6 = {15}
area7 = {11, 14}
L Larea8 ={1,3,5,12, 18}
AU B=1{1,2,358,9,10,12,13} |
AN B={2,10}
AU B=1{23,45,6709,10,11,12, 13}
B A={18}
A-B=1{3,59,12,13} . Ans5 =

B -A=1{4,6,7,11}
(4 U B)=1{4,6,7,11}
A N B={4,6711}

(A4-B)={1,2,4,6,7,8,10,11} |

n(d N B)=1 n(4 v B)=38
,.2=| n(4-B)=3 n(U-(4 v B))=5
n(B-4)=4 Math@MUT
; n(d N B)=2 n(4 v B)=10
,.2=| n(4-B)=5 n(U-(4 v B))=4
n(B-4)=3 Math@MUT |
n(intersect(4, B, C)) =1 n(d-B)=4
n(union(4, B, C)) =13 n(B-A4)=5

n4 N B)=2 n(C N (4 v B)=3
(B nC)=2 n(C U (4N B))=6
n(4 v C)=9 n(intersect(4, B, C)) =17
n(B8 v C)=10 Math@MUT

I 1 =(A4A v B={areal, area2, area3})

.2:(A’—B= {aread})

3=((A4-B) v (B-A)={areal, area3})
4=(A n B={area2, area5})

S=(C U (A4 n B)={area2, area4, areas, area6, area?7 })
6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
7=((B-4) U (B-C)={area2, area3, areab })
8= (A’ U B'= {areal, area3, area4, area6, area7, area8})
9= ((C—B)’—A’= {areal, area2, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12113

Ans4 =

[Page 0017]

areal ={3,6,7,9}

n(d N B)=2 n(d4d v B)=7
Ansl =| 1= “Zer“i;_{?’ls}} 2= n(4-B)=4 n(U-(4 U B))=4
area4=e{2, 8,10, 11} n(B-4)=1 Math@MUT
areal = {12, 16} n(d N B)=1  n(4 U B)=9
Ans2=| 1= area2 ={3} 2= n(4-B)=2 n(U-(4 U B))=4
area3 =1{6,7,8,13,14,15} n(B-d)=6 Math@MUT
area4 = {4,9,10, 11}
i areal = {5,8,10} | |
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=4
area3 = {13} n(union(4, B, C)) =10 n(B-A)=2
P aread = {9 5 nd N B)=1 n(C (40U B))=3
' area5 = {12} > n(B N C)=2 n(C U (4N B))=6
area6 = {4} n(d4d U C)=9 n(intersect(4, B, C) ) =15
area7 = {6, 14, 15} n(B v C)=7 Math@MUT
L Larea8={1,2,3,7,11,16}] ]
4V B=1{2,3,4680911} i 1=(4 N B={area2})
4 N B={3,9,11} 2=(A-B={areal })
A U B'={2,3,579,10,11,12,13} 3=((4-B) N (B-A)={})
Bn A= {4,6,8} .4:(A’: {area3, area6, area7, aread })
A-B={2} . Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })

B —A4=1{57,10,12,13}
(4 U B)=1{5,7,10,12,13}
A n B={57,1012 13}

[(A-B)=1{3,4,5,6,7,8,9,10, 11, 12, 13} |

6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
7=((C-4) n (C-B)={area7})
8= (B’— C= {aread, area7 })
.9:(A’ N (C—B)': {area3, areab, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12541

areal = {14,16}

n(4d N B)=3 n(d U B)=6
Ansl =| 1= “rere;{f’{gé}lS} 2= IS(A—B)):Z n(U-(4 U B))=1
aread = {5,7,9,10, 11, 12, 13} n(B-4)=1 Math@MUT
areal = {6, 15} n(d N B)=3  n(4d U B)=9
Ans2 =| 1= ar:;?f;,{j’z?’lé?é} 2= n(4-B)=2 n(U-(4 U B))=5
aread = {5,7,10, 11,13} n(B-A)=4 Math@MuT
[ areal = {10, 13} ) |
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {1,4} n(union(4, B, C)) = 11 n(B-A4)=3
msg| po| areat=i23.12y | n(4 n B)=0 n(C N (40U B))=4
area’ = { } i n(B N C)=1 n(Cu (4 nB)=7
area6b = {11} n4 v C)=9 n(intersect(4, B, C)'): 16
area7 = {5, 6, 14} n(Bu C)=9 Math@MUT
L Larea8 =1{7,8,9, 15,16} ]
(4 U B=1{4,5,6,7,10,11, 12,13, 14} | i d=(4 A B={area2})
AN B={714} 2=(B-4'={area2})
4 v B={4738,9,10,11,13,14,15} .3:(A' U B'= {areal, area3, area4 })
B mA'={5,6, 12} 4=(B n C={area5, areab})
Ans4 = A-B=1{4,10,11,13} , AnsS = S=(4 n (B v C)={areal, aread, area’ })

B —4=1{8,9,15}
(4 U B)=1{8,9,15}
A N B'=(8,9,15}

(A-B)=1{5,6,7,8,9,12,14, 15}

[Page 0018]

6=((4 N B) U (4 n C)={areal, aread, area5})
7=((A-B) n (A-C)={areal })
.8:(C’—B’= {area2, area3})
9=((4 —B)’— C= {area5, areab, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12584

areal ={2,8} nd nB)y=1 n(duB)=6
Ansl =| 1= arz;e;iis{,l;f}é} 2= n(4-B)=2 n(U-(4 U B))=5
aread = {0, 1.3, 4,6} n(B-4)=3 Math@MUT
areal = {6,7,11,13} n(A ~ B)=2 n(A U B)=11
Ans2=| 1= area?ria{Zle{,géi,gS}, 1y [ 2= MA-B)=4 n(U=(4 U B))=2
aread— (3, 10) nB-A)=5 Math@MUT
i areal = {7} ) -~ |
area2 = {10} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 = {3,4,14} n(union(4, B, C)) =11 n(B-A4)=3
Ans3| 12 aread = {0} . n(4d N B)=1 n(C N (4uvB))=1
areas = { } i n(B N C)=0 n(Cu (4nB)=7
area6 = { } n(d4d v C)=8 n(intersect(4, B, C)) =17
area7 = {5,9,11, 12,13} L n(B v C)=10 Math@MUT
L Larea8={1,2,6,8,15,16}] ]
4w B={3,4,5,6,89,10,12} I 1 =(A4 = {area3, aread}) 1
4“32{4=5’6’ 10, 12} .2=(A'—B={area4})
4V B=1{4,56781011,1213} 3=((A-B) U (B-A)={areal,area3})
B nA4={39} .4:(C,= {areal, area2, area3, area8 })
Ans4 = A4-B={8} , Ans5 = S5=(C n (4 v B)={area4, area$, areat })
B -A= {7,11,13} O6=0(4 N C) v (B n C)={aread, area5, areab})
(4 v B),: {7,11,13} 7=((C-4) v (C-B)={area4, areab, area7 })
A~ B={711,13} 8=(4 n B ={area’7, area8})
[(A-B) =1{3,4,5,6,7,9,10, 11,12, 13 } ] L 9=((C—B) — A= {area3, areab, area8}) i
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Set0l Answers for No.12590
areal = {8,15,16}

area? ={ } n4d n B)=0 n(4 v B)=9

Ansi=| I=| s a7 011 10 14y | 27| MA-BI=3 n(U=(4 U B)=4
aread = {5, 6, 10, 13} n(B-4)=6 Math@MUT
areal = {0, 6,8, 9} n(d N B)=3  n(4d U B)=9
Ans2=| 1= “’6“23:_{{1’52’73}} 2=| n(4-B)=4 n(U-(4 U B))=2
a‘j’reeaa4=_{4,’10} n(B-A)=2 Math@MUT
[ areal = {5,10, 14} ] ]
area2 = { 11,13} n(intersect(A4, B, C))=0 n(d-B)=5
area3={2,4,6} n(union(4, B, C)) = 12 n(B-A4)=3
P aread = {3,20} S n(4 n B)=2 n(C A (4 U B))=2
area’ = { } i n(B N C)=0 n(C v (4 nB))=6
areab = { } n4 v C)=9 n(intersect(4, B, C)'): 19
area7 ={9,17} n(Bu C)=9 Math@MUT
L Larea8 = {17, 8,12, 15, 16, 18, 19} | i
[ A4 U B=1{2,810,11,13, 14,16} | I d=(4 N B={area2})
/ 4N B={816} 2=(B —A'={areal })
A4 U B'=1{2,3,4,506,78,9,10,11, 12,13, 15, 16} 3=((4 U B) = {areat})
BnAs= {14} 4= (A’= {area3, areab, area7, area8 })
Ans4 = 4-B={2,10,11,13} , Ans5 = S=(A4 n (B v C)={area, aread, area$5 })
B —A=1{3,4,5,6,7,9,12,15} 6=((4 N B) U (4 n C)={area2, aread, area5})
(4 v B)’: {3,4,5,6,7,9,12,15} 7=((A-B) U (A-C)={areal, area2, aread})
A N B={3,4,56,7,9 12,15} 8=(C - B = {area2, area3})
L (4-B)=1{3,4,5,6,7,8,9,12, 14,15, 16} | L .9=(B N (4-C) = {area4, area’, area8}) |
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Set0l Answers for No.12621

areal = {2,8,13}

area2= (6,10, 11} n(4 ~n B)=3  n(4 U B)=8

Ansl =| .1 = ,.2=| n(4d-B)=3 n(U-(4 U B))=4
areifi3{3,{45,’97,}12} n(B-4)=2 Math@MUT
areal =10, 1,5} n(d N B)=4  n(4d U B)=9
Ans2=| 1= ‘”Z‘Z;{_zj{z’ ?;1}0} 2= n(4-B)=3 n(U-(4 U B))=6
aread = {4,7,8, 11,12, 13} n(B-4)=2 Math@MuT
[ [areal={3,6,7,8}] ]
area2 = {4} [n(intersect(4, B, C)) =2 n(4-B)=4
area3 ={2,11} n(union(4, B, C)) =11 n(B-A4)=3
nsi<| 1< aread = { } 2o n(d N B)=3 n(C N (4 v B))=3
' area5=1{9,10} |-~ n(B N C)=3 n(CuU (4 nB))=5
area6 = {12} n(4 v C)=9 n(intersect(4, B, C) )= 12
area7 = {14} L nBu C)=7 Math@MUT
L L area8={1,5,13} | ]
4 v B={3,57280911,13} 1 =(A = {area3, aread})
' A N B={3,5,8,9} 2=(B—-A={area3})
4 v B={3,45, 6”8’ 9,10, 11, 12,13} 3=0(4 n B)': {areal, area3, area4})
Bnd4={7} 4=(B n C={areas, areab})
Ans4 = A-B=1{11,13} , Ans5 = S=(A4 n (B v C)={area2, aread, area’ })
B-A= {4,6,10,12} 6=((4 N B) U (4 n C)={areal, aread, areas})
(4 v B)’: {4,6,10,12} 7=((A-B) U (A-C)={areal, areal, area4})
A~ B'=1{4,6,1012} 8=(C -4 = {areal, areal})
L (A—B)':{3,4,5,6, 7,8,9,10,12} | L 9=(4 N (C—B)':{areal,areaz,area5}) |
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Set0l Answers for No.12641
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Ans4 =

[Page = 0022]

areal = {6,8,12}

o, area? = {7}
AnsT=1- 1= a3 = (3,4, 11, 14}
area4 = {5,9,10, 13, 15}
areal = {7}
ns2=| 17— area? ={2,5,6}

area3 = {4,9,10, 11} "

aread4 ={1,3,8}

[ [ areal = {0,9, 12} ]

areal = {6, 16, 18}
area3 ={1,17}

o, aread = { } _
Ans3=|.1= areas = 1{ } ,.2=
areab = { }

area7 ={2,4,14, 15}

L Larea8 ={3,5,7,8,10,11, 13}

[ A U B={3,4,57,8,9,13}

AN B={45}

AU B=1{0,1,2,45678,910, 11,12, 14}
B A={313}
A-B=1{7,8,9}

B —4=1{0,1,2,6,10,11,12, 14}
(4 U B)=1{0,1,2,6,10,11, 12, 14}
A N B'={0,1,2,6,10,11, 12, 14}
L(A4-B)=1{0,1,2,3,4,5,6,10,11,12, 13, 14} |

, Ans5 =

n(4 N B)=1

n(4 v B)=8
,.2=| n(4-B)=3 n(U-(4 v B))=5
n(B-4)=4 Math@MUT
n(4d N B)=3 n(4 v B)=8
2=l n(4-B)=1 n(U-(4 v B))=3
nB-4)=4 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=3
n(union(4, B, C)) =12 n(B-4)=2
n(d N B)=3 n(C N (4uvB)=0
nB N C)=0 n(Cu (4nB))=7
n(4 v C)=10 n(intersect(A4, B, C)/): 19
n(Bu C)=9 Math@MUT

.I=(A': {area3, aread })
.2=(A—B'= {areal})
3=0(4 n B)': {areal, area3, area4})
4=(4 n C={aread, aread})

S=(B n (4 v C)={area2, areal, areab })
06=((4 N B) U (B N C)={areal, area’, areab})
7=((B—-A4) n (B-C)={area3})

8= (B'—A': {areal, aread})

9=(4 N (C-B) = {areal, area2, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0:¢ | - WAL T L LN O N 010 J0 12355704
Set0l Answers for No.12674

areal = {5}

area? = (7.8, 10} n(4d N B)=3  n(4 v B)=7

Ansl=| .1 = 2= n(4-B)=1 n(U-(4 U B))=5
area3={1,3,11} _
aread = {0,2.4,6,9) n(B-4)=3 Math@MUT
“;ef]{; {7 }14} n(4d N B)=3 n(du B)=7
Ans2=| 1= areas =, 1, ,2=| n(4-B)=0 n(U-(4 U B))=6

area3 =1{4,6,12,15}

aread = {8,9, 10, 11, 13, 16} n(B-4)=4 Math@MUT
[ areal = {1,9} ] ]
area? = { } n(intersect(4, B, C)) =0 n(4d-B)=3
area3={3,5,6,7,10,13} n(union(4, B, C)) =12 nB-4)=7
dnsi<| 12 aread = {17} . n(4d N B)=0 n(C N (4uvB)=2
area’ = { } i n(B N C)=1 n(C U (4 N B))=4
areab = {15} n(d4 v C)=6 n(intersect(4, B, C) )= 18
area7 = {0, 11} n(B U C)=10 Math@MUT
L Larea8 = {2,4,8,12,14,16} | ]
A v B={4,56,7,8,10,13, 14,17} i 1 =(A = {area3, aread}) ]
’ AnB=1{} 2=(4'-B ={area3})
AU B= {'6, 7,9,10, 11,12, 15,16} 3=(4 N B'={aread})
B N A4=1{45,8,13,14,17} 4=(A v B={areal, areal, area3, area4, area’, area6 })
Ans4 = 4-B={6,7,10} , Ans5 = S5=(C n (4 v B)={area4, areal, areat })
B —A= {9,11,12, 15,16} O6=((4 N C) v (B n C)={aread, area5, areab })
(4 v B),: {9, 11, 12,15, 16} 7=((C-4) v (C-B)={aread, areab, area7 })
A~ B={9,11,12,15,16} 8=(4 n B ={area7, area8})
L(A—B)'=1{4,5,8,9, 11,12, 13, 14,15, 16, 17} ] L 9=(B N (A-C) = {area3, area5, area6}) J
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Set0l Answers for No.12728

areal = {5,6,12}

° n(4 N B)=1  n(4 U B)=6
Ansl=| .1 = arZZaiE;%} ,.2=| n(4-B)=3 n(U-(4 U B))=7
aread=11,2,3,4,7,8,11} n(B-4)=2 Math@MUT
“rez"f?l{z’ 59’ 71}1} n(4 N B)=4  n(4 U B)=8
Ans2=| 1= “re“ar;aji{"‘; ,2=| n(4-B)=3 n(U-(4 U B))=4
areat— {0,685, 10) n(B-A4)=1 Math@MUT
[ areal = {2, 14,15} ] T
area2={1,10} n(intersect(4, B, C)) =0 n(4d-B)=4
area3 = {9} n(union(4, B, C)) = 10 n(B-A4)=1
I aread = {5} S n(4d N B)=2 n(C A (4 U B))=1
mI= AT areas=1{ } 4= n(B N C)=0 n(C U (4 N B))=6
areab = { } n(4d v C)=9 n(intersect(4, B, C)) =18
area7 ={7,8,11} n(Bu C)=7 Math@MUT
Larea8 = {0, 3,4,6,12, 13,16, 17} ]

[ 40U B=1{4,57.810,11,12,13,14,15} | [ 1 =(B'= {areal, aread}) ]
4N B={4,8,13} 2=(4-B = {area2})
A U B'=1{4,6,7,8,9,10,11,13,16,17} 3=((4 U BY = {areat?)
B N A4={51214,15} 4=(4 N C={area4, areas})

Ansd = A-B={7,10,11} , AnsS5 = S5=(B U (4 n C)={area2, area3, aread, area5, area6 })
B-A= {6,9,16,17} 6=((4 U B) n (B v C)={area2, area3, area4, area’, areab })
(4 v B)’: {6,9,16,17} 7=((C—-4) u (C—-B)={aread, areab, area7 })
A N B'=1{6,91617} 8=(A4 n B ={area’, area8})
L(4-B) =1{4,5,6,8,9,12,13, 14, 15, 16, 17 }] L 9=((B-C) - A = {areal, aread, area5}) ]
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Set0l Answers for No.13153

areal = {2,4,5,7} _ B
area?={ } n(4 N B)=0 n(4 v B)=7

Ansl=| .1= ,.2=| n(4-B)=4 n(U-(4 U B))=5

area3 = {10,12, 13} B
aread = {3,6,8,9,11} n(B-4)=3 Math@MUT

areal = {5, 11}
area? = {1,4}

n(d N B)=2  n(4 U B)=7

Ans2=|.1= ,.2=| n(4-B)=2 n(U-(4 v B))=38
area3 =1{7,9,12}
Laread = (2,3, 6,8, 10, 13, 14, 15} n(B-4)=3 Math@MUT
[ [areal={1,2,3,12, 14}] T
area? = { } n(intersect(4, B, C))=0 n(4d-B)=5
area3 = {10} n(union(4, B, C)) =10 n(B-—A4)=3
aread = { } n(4 N B)=0 n(C N (4 v B))=2
Ans3 =| .1 = , .2 =
areas = { } n(B N C)=2 n(C U (4 N B))=4
areab={4,9} n4d v C)=9 n(intersect(A4, B, C)') =15
area7 = {6,7} n(Bu C)=5 Math@MUT
L Larea8 = {0, 5,8, 11, 13 }] ]
4w B={1,3,4,9,10,11} 1 =(A4 = {area3, aread})
’ 4N B={l} 2=(A-B = {area2})
A4 v B ={0, 1,2,435,6,7, 8,10, 11,12} 3=((4 U B) = {aread})
BN A={39} 4=(A v B={areal, areal, area3, area4, area’, area6 })
Ans4 = A-B={4,10,11} , Ans5= S=(A4 n (B v C)={area2, aread, area$5 })
B'-4=1{0,2,5,6,7,8,12} 6=((4 N B) U (4 n C)={area2, aread, area5})
(4 v B),: {0,2,5,6,7,8,12} 7=((B—-4) U (B-C)={area2, area3, areab })
A N B={0,2,56,728 12} 8=(B - A = {areal, aread})
| (4-B)={0,1,2,3,5,6,7,8,9,12} | L 9=((C—A) - B'= {area2, area3, area5}) ]
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Set0l Answers for No.13698

areal = {3,7,11}

area? = {12} n(4 N B)=1 n(4d U B)=38

Ansl=| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=3
area3 ={4,6,8,10} _
wread— 15,913} n(B-A)=4 Math@MUT
“Ve‘”zz{f?’gl}l} n(d N B)=1  n(4 U B)=9
Ans2=| 1= areaz = 2=| n(4-B)=2 n(U-(4 U B))=5

area3 = {3,4,7,12,13,14} [~

aread = {2,5,6,9,15} n(B-4)=6 Math@MUT
[ [ areal = { } ] i
area? = { 14,15} n(intersect(A4, B, C)) =2 n(4d-B)=1
area3 ={5,11} n(union(4, B, C)) =38 n(B-4)=2
nsi<| 1< aread = {6} P n(4d N B)=4 n(CnNn(4uvB))=3
' area5=1{7,17} e n(B N C)=2 n(C U (4N B))=6
areab = { } n(4 v C)=6 n(intersect(A4, B, C)'): 14
area7 = {12} n(Bu C)=8 Math@MUT
L Larea8 = {3,4,8,9, 10, 13, 16, 18 } ] J
[ 4 U B=1{4,5,6,7,8,12,13, 14,15, 17,18} | [ 1 =(A'={area3, aread}) 1
AN B={12,18} 2=(B -4 ={areal })
A v B={4,38, ?, 10, 11, 12, 15, 16, 17, 18} 3=((4 U B) = {aread})
B N A={506,713,14} .4:(B,= {areal, area4, area7, area8 })
Ansd = 4‘32 {4, 8,15, 17} , Ans5 = S5=(C n (4 v B)={area4, areal, areat })
B -4=1{9,10,11, 16} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 v B)’: {9,10, 11,16} 7=((A4-B) U (A-C)={areal, area2, area4})
A4~ B'={9,10,11,16} 8=(B N C={areal,area8})
L(4-B) =1{5,6,7,9, 10, 11, 12, 13, 14, 16, 18} L .9=(C n (4-B) = {area5, area6, area7}) |
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Set0l Answers for No.644101

areal ={6,8,9,10,15}

area? ={ } n(4 N B)=0 n(4d U B)=9

Ansl =| .1 = ,.2=| n(4-B)=5 n(U-(4 U B))=4
“;‘;‘Z 4‘:{ {73131 ;3 1;‘; j n(B-A)=4 Math@MUT
areal = {9, 11} n(4d N B)=5 n(4du B)=8
Ans2=| 1= “reaz:{zj’f’{sé;’ 03] 52| n4=B)=2 n(U—(4 U B))=3
arez:fi {‘3’ 6.1} n(B-A)=1 Math@MUT
[ areal = {11,13} ] ~ ]
area? = {6,8} n(intersect(A4, B, C)) =0 n(4d-B)=3
area3={2,7,10} n(union(4, B, C)) =11 n(B-4)=4
nsi<| 1< aread = {15} 2 n(d N B)=2 n(Cn(4uvB))=2
area5 ={ } ’ n(B N C)=1 n(C U (4 N B))=6
areab = {5} n(4 v C)=8 n(intersect(4, B, C)/) =17
area7 = {12, 16} L n(Bu C)=9 Math@MUT
L Larea8 ={3,4,9,14,17, 18} | ]
4V B={2,467,911,12,13} [ 1 =(B = {areal, aread}) 1
’fl N B=16,13} 2=(B-A'={area2})
4V B :,{2’ 3,5,6,8,10,13} 3=((4 N B) = {areal, area3, area4 })
B nA4={47091112} 4=(4 N B={area2, areas})
Ans4 = A-B={2} , Ans5= S5=(C U (4 n B)={area2, area4, area5, areab, area?7 })
B —A4=1{3,58,10} 6=((4 v C) n (B C)={area2, area4, area5, areab, area7})
(4 U B)=1{3,5,8,10} 7=((A-B) n (A-C)={areal })
A N B= {3,5,8,10} 8= (B' U C= {areal, area2, area3, area4, area7, area8})
[(A—B) =1{3,4,5,6,7,8,9,10,11,12,13 } ] L 9=(C n (B-A) = {areal, area2, area8}) ]
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Set0l Answers for No.644102

areal = {11} nAd A B)=4  n(4d U B)=7
Ansl =| 1= “reaz?{_of{é‘?b?} 2= n(4-B)=1 n(U-(4 U B))=6
areajria{Zjl 5.7.8.91 n(B-4)=2 Math@MUT
areal = {2, 11,12} nA A B)=1 n(A U B)=8
Ans2=| .1 = are;‘;i“i;éf;yg} L 2=| n(4-B)=3 n(U-(4 U B))=4
aread = {4,9,10, 13} n(B-4)=4 Math@MUT 1
[ _areaI:{1,5,14} ] 1
areal = {6} n(intersect(4, B, C)) =0 n(4A-B)=6
area3 = {8} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {0,4,11} e n(4d N B)=1 n(C N (4 U B))=4
area’ = { } ’ n(BnC)=1 n(Cu (4 nB))=7
areab = {12} n(4 u C)=10 n(intersect(4, B, C) ) =15
area7 ={9,10} n(Bu C)=8 Math@MUT
L Larea8 = {2,3,7,13 }] i
4V B=10,3,4,56,9,10,11,12} | [ 1 =(A4A v B={areal, area2, area3})
A0 B=19.12} 2=(B 4= {areal })
4 v B={0,1,27,3809,10,12} .3=(A' U B'= {areal, area3, area4})
Bnd= {3,4,5,6, 11} 4=(A4 v C={areal, area, area4, area5, areab, area7 })
Ans4 = A-B=1{0,10} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 } )

B -A4=1{1,2,7,8}

(4 U B)=1{1,2,7,8}

A N B={1,2,728}
[(A-B)=1{1,2,3,4,5,6,7,8,9, 11, 12} ]

X [Page = 0028]

6=((4 v B) n (B v C)={area2, area3, aread, area’s, area6 })
7=((C—-4) n (C-B)={area7})
.8=(A’ U C= {areal, area2, area3, areab, area7, area8})
.9:(C’ N (4 —B)/: {area2, area3, area8})
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Set0l Answers for No.644103

areal = {0,5,7} n(4 N B)=2 n(d v B)=9

dnsl=| 1= arezgeiz{;,{;,’:}lo} 22| n(A-B)=3 n(U—(4 U B))=2
aread = 14,9} n(B-4)=4 Math@MUT
areal = {10, 11,13} n(A ~ B)=2 nA U B)=6
Ans2=| .1 = “2253:_{?’6? L 2=| n(4-B)=3 n(U-(4 U B))=7
aread = {2,3,4,7,9, 12, 14} n(B-4)=1 Math@MUT
[ areal = {7,9} ] i
area? = {13, 14} n(intersect(A4, B, C)) =0 n(4-B)=4
area3 = {1} n(union(4, B, C))=9 n(B-A4)=1
ansi<| 1< aread = {2,5} 2 n(4d N B)=2 n(C N (4uvB)=2
areas = { } i n(B N C)=0 n(Cu (4 nNB))=6
area6={ } n(d U C)=38 n(intersect(4, B, C)) = 15
area7 ={0,3} nBu C)=7 Math@MUT
L Larea8 = {4,6,8,10, 11, 12} | ]
[ 4 UB={1,2,47,8,9,10,11} ] i 1=(4 ~ B={area2}) T
4 n B={11} 2=(B-A={area3})
40U B={0,3456711} 3=((4 U B) = {areat})
BnA= 11,2,8,9,10} .4:(B’: {areal, aread, area7, areas })
Ans4 = A-B=1{4,7} , Ans5 = S5=(C U (A4 n B)={area2, area4, areas, area6, area?7 })
B -A= {0,3,5,6} 6=((4 v C) n (B U C)={area2, area4, areal, areab, area7 })
(4 U B)=1{0,3,5,6} 7=((B-A4) U (B-C)={area2, area3, area6})
A4 N B={0,3,5,6} 8=(B = C = {aread, area7})
_(A—B)'={0,1,2, 3,5,6,8,9,10, 11} L .9:((C—B)/—A:{area3, areab, aread }) i
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areal ={2,3,5,10}
area? ={1,4}
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Set0l Answers for No.644104

n(d N B)=2

n(4 U B)=9
Ansl=| 1= ,2=| n(4-B)=4 n(U-(4 U B))=3
a"r’"e ea" 43 - {{06” 97: 181}} n(B-A)=3 Math@MUT
areal = {10} n(d N B)=2 n(du B)=5
Ans2=| .1 = Z:ZZ?:S 12 2= n(4-B)=1 n(U-(4 U B))=6
aread = {4,5,6,7,11, 13} n(B-4)=2 Math@MUT
[ areal = {1,5} ] T
area2 = {11} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {4, 8} n(union(4, B, C)) = 12 n(B-4)=3
3| | aread=17.14} S n(4 N B)=2 n(C N (4 U B))=4
aread = {2} ’ n(B N C)=2 n(Cu (4 nB))=8
area6 = {13} n(4 v C)=10 n(intersect(4, B, C) )= 15
area7 ={0,3,9} n(B U C)=10 Math@MUT
L Larea8 = {6, 10, 12, 15 } | i
(4 U B=1{0,1,2,3,4,5,6,11,12,13, 14} ] i

AN B={2}

AU B'={0,1,2,57,8,9,10,11,12,13}
BN A={34614}
A-B=1{0,1,5,11,12,13}

B -A4=1{7,8,9,10}

(4 U B)=1{7,8,9,10}

A N B'={7,8,910}

Ans4 = , Ans5 =

(4-B)=1{2,3,4,6,7,8,9, 10, 14}

i =(A'= {area3, area4 })
2=(A' - B={aread})

3= (A' U B'= {areal, area3, area4 })

4= (B’= {areal, aread, area7, areal8 })
S=(A4 n (B v C)={area2, aread, areal })

O6=((4 N B) U (4 n C)={areal, area4, areal })
7=((A4-B) U (4-C)={areal, area2, aread })
8= (C'—B': {area2, area3})

9= (B’ N (4- C)’= {aread, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644105

areal ={7,13}

area2 =1{9} n(4d N B)=1 n(d U B)=6

Ansl =| .1 = area3 = {3, 5.8 ,.2=| n(4-B)=2 n(U-(4 v B))=7
aread = {4, 6, 10{, 1, 12}, 14,15} n(B-4)=3 Math@MUT
mz;ef]{; {6 }11} n(d N B)=3  n(4du B)=7
Ans2=|.1= area3={4,i7,’9,10} ,.2=| n(4-B)=0 n(U-(4 v B))=5
aread = 15,8, 12, 13, 14} n(B-A)=4 Math@MuT
i i areal = {4,6,8} i ]
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {5, 14} n(union(4, B, C)) =12 n(B-A4)=4
Ansie| 12 aread = {3,9} 2 n(4d n B)=0 n(C n (4 v B))=4
area’ = { } i nB N C)=2 n(Cu (4nB)=7
area6 = {2,13} n(4 u C)=10 n(intersect(4, B, C)) = 15
area7 ={7,11,12} n(B v C)=9 Math@MUT
L Larea8 = {1, 10, 15} ] ]
AU B=1{4,6,7,8,9,11,12,13, 14} i 1 =(A = {area3, aread}) ]
’ 4 N B=1{79,12} .2=(A—B'={area2})
A v B={3, 5,’7, 9,10, 11,12, 14,15} 3=((4 U B) = {aread})
B N A=1{4,6,8,13} 4=(A v B={areal, areal, area3, area4, area’, area6 })
Ans4 = A4-B={11, 14} , Ans5= S5=(C U (4 n B)={area2, area4, area$, areab, area?7 })
B —4=1{3,5,10,15} 6=((4 v C) n (B v C)={area2, area4, areal, areab, area7 })
(4 U B)={3,510,15} 7=((C—-4) n (C-B)={area7})
A n B'={3,510,15} 8=(4 - C = {area6, area7})
[(A—-B) =1{3,4,5,6,7,8,9,10,12, 13,15} L 9=((C-A) - B = {area2, area3, area5}) ]
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Set0l Answers for No.644106
areal = { }

area2 = 13,7, 10} n(4d N B)=3 n(d4d v B)=5

Ansl =| .1 = ,.2=| n(4-B)=0 n(U-(4 U B))=6
area3 = {9, 11} _
aread = (4,5, 6,8, 12,13} n(B-4)=2 Math@MUT
areal :2{3,{76 86,}14} nA ~ B)=2 n(A U B)=S8
Ans2=| 1= areas =% 2=| n(4-B)=4 n(U—-(4 U B))=7

area3=1{3,11}

aread = 1{1,4,5,9,10, 12,13} n(B-4)=2 Math@MUT
i [ areal = { } ) )
area2 = {11} n(intersect(4, B, C)) =1 n(d-B)=2
area3 ={3,10} n(union(4, B, C))=9 n(B-—A4)=3
Ansie| 12 aread = {2, 8} . n(4d N B)=2 n(C N (4 v B))=4
aread = {4} i nB nNC)=2 n(Cu (4 nB)=7
area6 = {7} nd u C)=7 n(intersect(4, B, C)) =16
area7 ={1,6} n(Bu C)=9 Math@MUT
L Larea8 =1{0,5,9,12, 13,14, 15,16} J
[ Av B=1{2,4,7,10,11,12,13} ] i 1=(4 v B={areal, area2, area3})
A0 B={4,10,13} 2=(B —A'={areal })
4 v B={0, 1’, 3,4,5,6,8,9,10,13} 3=((4 U B) = {aread})
B nA4={271112} 4= (B’= {areal, area4, area7, area8 })
Ans4 = A-B={} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B-A= {0,1,3,5,6,8,9} 6=((4 U B) n (4 v C)={areal, area, aread, area5, area6 })
(4 v B)’: {0,1,3,5,6,8,9} 7=((A4-B) U (A-C)={areal, area2, aread })
4 nB={0,1,3,5,6,89} 8=(B - A = {areal, aread})
l(4-B)=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13} ] L 9=(B N (A4-C) = {area3, area5, area6}) J
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Set0l Answers for No.644107
areal = {6,9}

area?= (5.8, 12) n(4 ~ B)=3  n(4 U B)=8

Ansl =| .1 = area3 = {10, 11, 14} ,.2=| n(A-B)=2 n(U-(4 U B))=5
aread = {2,3,4,7,13} nB-4)=3 Math@MUT
areal = {2, 4,5} n(4 A B)=1  n(4 U B)=6
Ans2 =| .1 = afer:;’i:{{lllié} ,.2=| n(4-B)=3 n(U-(4 U B))=8
aread = {0,3,6,7,8,9,12, 13} n(B-4)=2 Math@MUT
[ areal = {0,2,3,7} ] ]
area2 = {1,17} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3 = {15,16} n(union(4, B, C)) =11 n(B-—A4)=3
ns3=| 17— aread ={ } e n(d N B)=2 n(C n (4 v B))=1
area’ = { } i n(B N C)=1 n(C v (4 nB))=5
area6= {14} n(d U C)=9 n(intersect(4, B, C) )= 19
area7 = {12, 13} n(B v C)=7 Math@MUT
L Larea8 = {4,5,6,8,9,10, 11, 18} i
4 v B=1{1,3,4,5/10,11} 1 [ .1 =(A v B={areal, area2, area3})
- A0 B={5} 2=(B—A'={areal})
Av B={0,1,2,56,7,8,9,11} 3=(4 N B ={aread})
BnA= {3,4,10} 4= (A’= {area3, areab, area7, area8 })
Ans4 = 4-B={111} , Ans5 = S5=(C U (4 n B)={area2, area4, area$, areab, area?7 })
B-A= {0,2,6,7,8,9} =4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
(4 v B)’: {0,2,6,7,8,9} 7=((C-4) v (C-B)={aread, areab, area7 })
A N B= {0,2,6,7,8,9} .8=(A’ U C= {areal, area2, area3, area6, area7, area8})
[(A-B)=1{0,2,3,4,5,6,7,8,9,10} ] L 9=((B-A) —C = {aread, areas5, area7}) ]
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Set0l Answers for No.644108

“reaéf{i’g} nd N B)=2  n(du B)=8
Ansl =| 1= arefgi {‘2,{4”7’}10} 2= n(4-B)=2 n(U-(4 U B))=4
aread = 10, 1.8, 11} n(B-4)=4 Math@MUT
areal = {1,8} n(d N B)=2  n(4d U B)=9
dns2=| g=| el =i4B3F o\ A—B)=2 n(U—(4 U B))=5
area3 =14{2,5,6,7,12} n(B—A)=5 Math@MUT
area4=1{0,3,9,10, 11}
i areal = {13} ) |
areal = {4} n(intersect(4, B, C)) =1 n(4d-B)=1
area3 = {3} n(union(4, B, C)) =10 n(B-4)=3
nsi<| 12 aread = { } 5 nd N B)=2 n(C N (4 v B))=3
' aread = {2} u n(B N C)=3 n(Cu (4 nB))=38
area6={1,6} n4 v C)=9 n(intersect(A4, B, C)') =13
area7 ={7,9, 11,12} n(B v C)=9 Math@MUT
L L area8 =1{0,5,8,10} | ]
4 v B={1,2,3,5,6,8,9,10,11} I I=(4 v B={areal,area2, area3})
4N B={8} 2=(B—A={areal})
AU§:{4,7,8,9a11} 43:(A'mB':{area4})
B nA4={1273,5610} 4=(B n C={area5, areab })
Ans4 = A-B=1{9,11} , Ans5 = S=(4 v (B n C)={areal, area2, aread, area5, area6 })
B —A= {4,7} 6=((4 Y B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 U B)={4,7} 7=((C-4) n (C-B)={area7})
A N B={47} 8=(B U C = {areal, area2, area3, aread, area’, area8 })
L(A-B)=1{1,2,3,4,5,6,7,8,10} ] L 9=(B N (A-C) = {aread, area7, area8 } ) ]
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Set0l Answers for No.644109

areal ={0,2,8,9}

area2 = 1{3,11} n(4d N B)=2 n(4d v B)=7
Ansl =| 1= wrea3— 151 2= n(4-B)=4 n(U-(4 U B))=6
aread = {1,4,6,7, 10,12} n(B-4)=1 Math@MUT
ar‘;:;“igs{fl}z} n(4 N B)=2  n(4 U B)=8
Ans2=| d=| s 011 13, 14y [ 25| MA-B) =1 (U= (4 U B)=3
areat— {4,710} nB-A4)=5 Math@MUT
i areal = {6,13} ] 1
area = { } n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {2,4} n(union(4, B, C)) =11 n(B-4)=4
msg—| | areat={5} S n(4d N B)=1 n(C (4 U B))=4
aread = {1} ’ n(B N C)=3 n(Cu (4 nB))=7
areab = {3,7} n(4d v C)=9 n(intersect(4, B, C))= 13
area7 = {10, 11,12} n(Bu C)=9 Math@MUT
L L area8=1{8,9, 14} | ]

AU B=1{3,56,7,9,11}
AN B={3,6}

AU B={1,23,40681011,12}
B A={51709}

.I=(A'= {area3, area4})
2=(B-A'={area2})
3=(4 N B ={aread})
4= (C’ = {areal, area2, area3, area8 })
Ans4 = A-B={11} S5=(C U (4 n B)={area2, area4, area5, areab, area7})
B'-A4=1{1,2,4,810,12} 6=((4 v C) n (B C)={area2, area4, areal, areab, area7 })
(4 U B)=1{1,2,4,8,10,12} 7=((C-4) n (C-B)={area7})
A4 N B'={1,2,4,8,1012} 8=(4" N C={area3, area8})

[(4-B)=1{1,2,3,4,5,6,7,8,9,10, 12} L 9=((B-C) - A= {areab, area’, area8}) ]
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

, AnsS =
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Set0l Answers for No.644110

X [Page = 0036]

areal = {2,6,13}

n(4d N B)=2 n(4 v B)=17
Ansl =| 1= am’zf_{{lé’f}} 2= n(4-B)=3 n(U-(4 U B))=6
area4a£e{al,_3, 4,’5, 7,10} n(B-4)=2 Math@MUT
areal = {8, 14,15} n(A ~ B)=2 n(A U B)=7
Ans2=| 1= Z:ZZ?;}Z 12 ,2=| n(4-B)=3 n(U-(4 U B))=8
aread4 = {3,5,6,9,10, 13,16, 17} n(B-4)=2 Math@MUT
[ [ areal=1{4,58,12} | ]
area? = { } n(intersect(4, B, C)) =0 n(4-B)=7
area3 = {11} n(union(4, B, C)) =11 n(B-—A4)=3
nsi<| 12 aread ={3,7,9} e n(4d N B)=0 n(C N (4 v B))=5
area’ = { } i n(B N C)=2 n(Cu (4 nB))=6
area6 = {1,16} n(4 v C)=10 n(intersect(A4, B, C)'): 17
area7 = {2} n(B U C)=7 Math@MUT
L Larea8 = {6, 10, 13, 14, 15, 17 } J
4w B=1{4,56,7,8910,11} I 1 =(A = {area3, aread}) 1
’fl N B=14,6,7} 2=(B —A4={areal})
4w B={1,23456711} 3=((4-B) U (B—A)={areal, area3})
B N A4={8910} .4=(C,= {areal, area2, area3, area8 })
Ans4 = A4-B={511} , Ans5 = S5=(C n (4 v B)={area4, area$, areat })
B-A= {1,2,3} O6=0(A4 N C) v (B n C)={aread, area5, areab })
(4 U B)=1{1,2,3} 7=((B-4) n (B-C)={area3})
A N B={1,23} 8=(B n C={areal, area8})
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L(A-B)=1{1,2,3,4,6,7,8,9,10}]

9=((C—-A4) - B={areal, area4, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644111

areal = {0,1,2}
area? = {3,8}
area3 ={4,5,6,7} "
area4 = {9, 10}
areal = {8,9}
area? ={4,6,7,10}

n(4d N B)=2  n(4 U B)=9
2=| n(4-B)=3 n(U-(4 U B))=2
nB-A)=4 Math@MUT

Ansl =| .1 =

n(4 N B)=4  n(4 U B)=9

Ans2=| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=3
et - {ﬁ ?zlﬁ} n(B-4)=3 Math@MUT
i areal = {7} l |
area? = { } n(intersect(4, B, C)) =2 n(4d-B)=2
area3 =1{0,2} n(union(4, B, C)) =10 n(B-A4)=3
ns3=| 1= aread = {4} . n(4d N B)=2 n(C N (4 v B))=4
' area5=1{5,6} - n(B N C)=3 n(C U (4 nB)=7
areab = {3} n(4d v C)=8 n(intersect(4, B, C)) =13
area7 ={1,9,13} n(Bu C)=9 Math@MUT
L Larea8 = {8, 10, 11, 12, 14 } | ]
4w B={0,1,4,56,3811} [ A =(A4 v B={areal, area2, area3})
, 40 B={L11; 2=(A'—B={aread})
Av B={123,72891011,12} 3=((A4-B) n (B-A)={})
B A=1{0456} A4=(B v C={area2, area3, area4, areal, areab, area7 })
Ansd = A-B={8} . Ans5 = S=(B n (4 v C)={area2, areal, areab})
B-A= {2,3,7,9,10,12} 6=((4 N B) U (B n C)={area2, areas, areab })
(4 U B)’: {2,3,7,9,10, 12} 7=(A-B) U (A-C)={areal, area2, aread })
A N B = {2,3,7,9,10, 12} ,8=(A"r\ C= {area3, area8 })
l(4-B)=1{0,1,2,3,4,5,6,7,9,10, 11, 12} ] L 9=((4-C) —B={area4, area’, area8 }) J
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Set0l Answers for No.644112

areal = {3,7}

area2= {1213} n4 nB)=2  n(4uU B)=8

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=4
area3 =1{5,9,10, 14} _
aread— (4.6.8.11) n(B-A)=4 Math@MUT
areal :2{71’{56}13} n(d N B)=1 n(4duU B)=6
Ans2=| .1 = areas= 2= n(4-B)=3 n(U-(4 U B))=9

area3 =1{6,11}

aread = {2,3,4,7,8,9,10, 12, 14} n(B-4)=2 Math@MUT
[ [areal=1{0,1,5,6,7,10}] T
area? = { } n(intersect(4, B, C)) =1 n(4A-B)=6
area3 = {4, 12} n(union(4, B, C)) =12 n(B-4)=4
ns3=| 17— aread = { } P n(4d N B)=1 n(C N (4uvB))=3
' area = {8} . n(B N C)=3 n(Cu (4 n B))=4
area6 = {3,13} n(4 v C)=10 n(intersect(4, B, C) )= 13
area7 = {9} n(Bu C)=6 Math@MUT
L L area8 = {2,11} ] ]
A v B=1{3,4,5,7,8,9,10,12, 13} [ 1 =(B'= {areal, aread }) 7
4 N B=14,5,10,12} .2=(A'—B'={area3})
A U B :{4,5,6,7,8,9,10, 11,12} .3=((A—B) A (B—A)Z{ })
B N A':{3, 13} 4=(4 n C={area4, area5})
Ansd = A-B=1{7,8,9} . Ans5 = 5=(C U (A n B)={area2, aread, area5, area6, area7})
B —4A= {6,11} 6=((4 v C) n (B U C)={area2, area4, area5, areab, area7})
(4 U B)=1{6,11} 7=((C-4) n (C=B)={area7})
A~ B={611} 8=(B'— A4 = {areal, aread})
_(A—B)':{3,4, 5,6,10,11,12,13} | L .9:((C—B)'—A/:{area],areaZ,area5}) i
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Set0l Answers for No.644113

areal = {3,4,10, 13}

area? ={2,7} n(4 n B)=2 n(4 v B)=38

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 U B))=5
area3 = {6,12} _
aread = {5,8,9, 11, 14} n(B-4)=2 Math@MUT
areal j}g:” n(d N B)=1 n(4duU B)=6
Ans2=| 1= areaz= 2= n(4-B)=3 n(U-(4 U B))=6

area3={11,15}

aread = {4, 6,7, 10, 12, 14} nB-4)=2 Math@MUT
[ areal = {9, 16} ) )
area? = { } n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {14, 15} n(union(4, B, C)) =10 n(B-A4)=5
nsi<| 12 area4 = {6,10} e n(4 N B)=0 n(C N (4 v B))=5
areas = { } i n(B N C)=3 n(C v (4 nB))=6
area6b = {5,7,17} n4 v C)=8 n(intersect(4, B, C)'): 15
area7 = {11} n(B U C)=8 Math@MUT
L Larea8 = {3,4,8,12, 13} ]
A U B=1{4,509,11,12,13,14,15,17} | [ 1 =(B = {areal, aread}) 1
, AN B={411} 2=(4' -B={aread})
A v B={4,5,6, 7, 8,10, 11,13, 14, 16, 17} .3:(14' U B = {areal, area3, aread })
B nA4={91215} 4= (B = {areal, area4, area’7, area8})
Ans4 = A-B=1{5,13,14,17} , Ans5 = S=(B U (4 n C)={area2, area3, aread, areas, area6 })
B'-4=1{6,7,8,10,16} 6=((4 v B) n (B v C)={areal, area3, area4, area’, area6 } )
(4 U B)=1{6,7,8,10,16} 7=((A-B) n (A-C)={areal })
A n B'={6,728,1016} 8=(B - C = {aread, area7})
L (A-B)=1{4,6,7,8,9,10,11,12,15,16} | L 9=(4 N (B-C) = {areda6, area7, area8 ) ]
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areal = {4,5,13}

n(4d N B)=0 n(4d U B)=8
Ansl =| 1= area2 ={ } 2= n(4-B)=3 n(U-(4 U B))=5
area3 =1{2,3,8,12,14} n(B—A)=5 Math@MUT
area4 =1{6,7,9,10, 11}
areal = {5,6,14,16} n(A  B)=0 (A U B)=10
Ans2=| 1= areaZ ={ } 2= n(4-B)=4 n(U-(4 U B))=5
area3=1{3,4,7,10,13,15} n(B-d)=6 Math@MUT
area4d =1{2,8,9,11, 12}
[ [ areal = {1} ) |
area? = {5} n(intersect(4, B, C)) =0 n(d-B)=2
area3 = {16,17} n(union(4, B, C)) =38 nB-A4)=4
ns3=| 1 aread = {11} 2o n(d N B)=1 n(C N (4 v B))=3
' area5=1{} > n(B N C)=2 n(C U (4 N B))=5
areab = {6,15} n(d v C)=6 n(intersect(4, B, C)) = 18
area7 = {10} nBuC)=7 Math@MUT
L Larea8 ={0,2,3,4,7,8,9,12, 13, 14} | ]
4 v B=1{1,506,789,10,12} [ 1 =(A v B={areal, area2, area3 })
. A0 B={12} 2=(4'~B={aread})
4 v B=10,2, 3”4’ 5,6,7,8,9,11,12} 3=((4 n B)': {areal, area3, area4})
B N A4={110} 4=(4 N B={area2, areal})
Ans4 = A-B=15,6,7,8,9} , Ans5 = S=(B N (4 v C)={area2, areal, areab })

B -A4=1{0,2,3,4,11}
(4 U B)=1{0,2,3,4,11}
A N B={0,2,3,4,11}
(4-B)=1{0,1,2,3,4,10,11, 12}

DGRV ERRNCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0.0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.:0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.6:0.0.0:0.0:6:0.0 ¢ | - WAL T L NN O N 01O Lo X 10) ¢
Set0l Answers for No.644114

6=((4 N B) U (B n C)={areal, areas, areab})
7=((B—-4) v (B-C)={areal, area3, areab })
8= (C,—B,= {area2, area3 })
.9:(C' N (A—B)’: {area2, area3, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644115

areal = {8}

area2 = 15,9, 13} n(d4d N B)=3 n(d v B)=7

Ansl =| .1 = 2= n(4-B)=1 n(U-(4 U B))=4
area3 ={7,11, 14} _
aread = (4,6, 10, 12} n(B-4)=3 Math@MUT
“re“]:flef’}l“} n(d N B)=1 n(du B)=7
Ans2=| .1 = areas = L 2=| n(4-B)=4 n(U-(4 U B))=6

area3=1{2,10}

aread = {3,4,5,9,12, 13} n(B-4)=2 Math@MUT
[ areal = {7,9} ] ]
area2 = {3,4} [n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {5,10, 11, 14} n(union(4, B, C)) =12 n(B-A4)=5
Ans3—| 1= aread = {13} I n(d N B)=2 n(C N (4vB))=2
' area5=1{} - n(B N C)=1 n(Cu (4N B)=6
areab = {6} n(4 v C)=8 n(intersect(4, B, C)/) =13
area7 = {12, 15} L n(B v C)=10 Math@MUT
L area8= {8} ] ]
4V B=1{3,4,6,7,8,9,11} .1:(B’:{area],area4})
) 4 N B={7,8} .2:(B—A':{area2})
4 v B={5,6, 7,'8; 9,10, 11,12, 13} 3=((A-B) U (B—A)={areal, area3 })
B nA4={34} 4=(A U B={areal, area, area3, area4, areas, area6 })
Ans4 = A-B=1{6,9,11} , Ans5 = S=(C v (4 N B)={area2, area4, area’, areab, area?7})
B —4A= {5,10,12,13} 6=((4 v C) n (B U C)={area2, area4, areal, area6, area7 })
(4 v B)': {5,10, 12,13} 7=((A-B) U (A-C)={areal, areal, area4})
A~ B'=1{510,12,13} .8=(C' —B'={area2, area3})
L (4 —B)': {3,4,5,7,8,10,12,13} | L .9:(3’ N (4- C)/: {area4, area7, area8}) |
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Set0l Answers for No.644116

areal = {3,6,10, 11,12} n(A A B)=1 (A U B)=9
dnsl=| 1= arezgef{j’g%}m} 22| n(4-B)=5 n(U-(4 U B))=2
aread = {5, 8} n(B-4)=3 Math@MUT ]
areal = {7} n(4 N B)=4  n(4 U B)=8
Ans2=| 1= aZerZZ3:—{?’14’96’1;2}} 2= n(4-B)=1 n(U-(4 U B))=6
aread =1{3,5,8,10, 11, 141 n(B-4)=3 Math@MUT
[ [ areal = {7,15} l -~ i
area? = {3} n(intersect(4, B, C)) =0 n(4d-B)=3
area3 = {9, 13, 14} n(union(4, B, C))=9 n(B-4)=5
ns3=| 1= aread = {11} e n(4 N B)=1 n(C N (4 v B))=3
area’ = { } ’ n(B N C)=2 n(C U (4 N B))=4
area6={8,10} n(d4d U C)=6 n(intersect(4, B, C)) =17
area7 = { } L n(Bu C)=7 Math@MUT
L Larea8=1{0,1,2,4,5,6,12,16} ] ]
AU B={0,3,4,57,10,11} i i 1=(4 N B={area2}) ]
o AN B={11} 2=(B ~A={aread})
Av B={0,1,2,4,6,7,8,9,10, 11,12} 3=(4 N B'={aread})
B A=1{35} 4=(A N B={area2, area5})
Ans4 = A-B=1{0,4,7,10} , AnsS = S5=(C n (4 v B)={area4, area$, area6 })
B -A= {1,2,6,8,9,12} 6=((4 N C) v (B n C)={aread, areal, areat })
(4 v B)': {1,2,6,8,9,12} 7=((A4-B) U (A-C)={areal, area2, aread })
A N B = {1,2,6,8,9,12} ,8=(A’ U B'= {areal, area3, area4, areab, area7, area8 })
L (A—B)':{l,zj 3,5,6,8,9,11,12} | L .9:(A/ N (B—C)':{area6,area7,area8}) |
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”’6”1:2{_2’ 2’9} ndnB)=1 nduUB)=6
Ansl =| 1= arzgazgi 1}2} 2= n(4-B)=3 n(U-(4 U B))=5
aread = {3,5,7,10,11} n(B-4)=2 Math@MUT |
“’e"éf{;’” n(d N B)=2 n(4du B)=8
Ans2=| 1= are;;e:a{;,é,’l(s),}lS} ,.2=| n(4-B)=2 n(U-(4 U B))=5
aread = {8, 11,12, 13, 14} n(B-4)=4 Math@MUT
i areal ={0,1,2} | ]
area = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3={3,7,11,12} n(union(4, B, C)) =12 n(B-A4)=6
nsi<| 12 aread = { } 5 nd N B)=1 n(C N (4 v B))=3
' area = {8} u n(B N C)=3 n(Cu (4N B))=5
area6={5,9} n4d v C)=8 n(intersect(A4, B, C)'):13
area7 = {4,10} n(Bu C)=9 Math@MUT
L area8={6,13} | -
4w B=1{3,4,5,6,7,8,9,10, 11} I 1=(A4 U B={areal, area2, area3})
4 N B={411} 2=(B-A={area3})
AV B={1,2,3,47,9,10,11} 3=(A-B)n (B-A)={1})
B A= {5,6,8} 4=(4 v C={areal, areal, aread, areal, areab, area?7})
Ans4 = A-B=1{3,7,9,10} . Ans5 = S=(4 v (B n C)={areal, areal, area4, area5, area6 })
B—-A= {1,2} 6=((4 U B) n (4 v C)={areal, area, area4, area5, areab })
(4 U B)={1,2} 7=((C=4) N (C=B)={area7})
A'r\B':{l,2} 8=(B — A4 ={areal, area4})
L (A—B)’:{1,2,4,5,6,8,11} ] L .9=((C—B)'—A': {areal, area2, area5 }) ]
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Set0l Answers for No.644118

areal = {9,10, 11}

area2 = {6,13} n(4 N B)=2 n(4 v B)=7

Ansl =| .1 = ,.2=| n(4d-B)=3 n(U-(4 U B))=4
ar:;j“j {‘ 4;{ Z ;4 1} ) n(B-A4)=2 Math@MUT
areal = {1,2,3} n(d N B)=3 n(4d U B)=10
Ans2=| 1= afer:;’i:{i6597l?2}} 2= n(4-B)=3 n(U-(4 U B))=5
aread=1{0,8, 11,13, 14} n(B-A)=4 Math@MUT
[ [ areal = {3,7,8,12} ] 1
area? = {1} n(intersect(4, B, C)) =0 n(4A-B)=6
area3 ={9,15} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {11, 14} e n(4d N B)=1 n(C N (4 U B))=2
areas = { } ’ n(B N C)=0 n(C U (4 N B))=5
areab = { } n4 v C)=9 n(intersect(A4, B, C)'): 16
area7 = {4,13} n(Bu C)=7 Math@MUT
L Larea8 = {0,2,5,6,10}] ]
[ AU B=1{1,2,3,58,9,10, 13} i [ 1=(B = {areal, aread’) i
AN B={2,9} 2=(B—A={areal})
4V B= {q’ 1,2,4,6,7,9,11, 12} .3=(A' U B'= {areal, area3, area4})
BN A4={35281013} 4= (A’= {area3, areab, area7, area8 })
Ans4 = A-B={1} , Ans5 = S=(A4 n (B U C)={area, aread, area5 })
B -A4=1{0,4,6,7,11,12} 6=0(4 N B) U (4 n C)={area2, aread, area’})
(4 v B)’: {0,4,6,7,11,12} 7=((B-4) U (B-C)={area2, area3, areab })
A N B={0,4,6711,12} .8=(C' - B'= {area2, area3})
_(A—B)’={0, 2,3,4,5,6,7,8,9,10, 11,12, 13 } L ,9=((B—A)’—C={area],area2, area8}) ]
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Set0l Answers for No.644119
areal = {3,4,5,11}

area2 = {7} n(4 N B)=1 n(d U B)=17

Ansl =| .1 = areas = 19, 10 ,.2=| n(4-B)=4 n(U-(4 U B))=5
aread = {6, 8,{12, 13}, 141 n(B-4)=2 Math@MUT
areal ={2,3,6, 7} n(d N B)=3  n(4d U B)=9
Ans2=| 1= “’6“23:_{{1é4f15}} 2= n(4-B)=4 n(U-(4 U B))=2
Z;Z;; (9 10} n(B-A4)=2 Math@MUT
[ [ areal = {15} i -~ l
area? = {6,12, 18} n(intersect(4, B, C)) =1 n(4-B)=1
area3 = {4,9,13} n(union(4, B, C)) =10 n(B-4)=3
ansi<| 1< aread = { } . n(4d N B)=4 n(Cn(4uB))=1
aread = {3} ’ n(BnC)=1 n(Cu (4N B))=6
area6={ } nd u C)=7 n(intersect(4, B, C)) = 15
area7 = {8, 11} L n(Bu C)=9 Math@MUT
L Larea8 = {5,7,10, 14, 16, 17 } | J
4V B={45,6,7,809 11,15} I 1 =(B'={areal, aread}) 1
' 4N B={50678,9} .2:(BV—A':{area]})
4 v B=1{4,5,67, s’ 9,10, 11,12, 13, 14} .3:(A’ U B'= {areal, area3, area4 })
B nA4={15} 4=(4 N C={area4, areas})
Ans4 = A-B={4,11} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area’s, area6 })
B-A= {10, 12,13, 14} 6=((A4 U B) n (4 v C)={areal, area2, aread, area5, areab })
(4 U B)=1{10,12,13, 14} 7=((A4-B) n (4-C)={areal })
A~ B'=1{10,12,13, 14} 8=(4 n C={area3, area8})
L (4-B)=1{5,6,7,8,9,10,12,13,14,15} | L 9=((4-C) - B={area4, area’, area8}) ]
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Set0l Answers for No.644120
areal = {5, 11,12}

area2 = {10} n(4 N B)=1 n(4d U B)=6

Ansl =| .1 = ,.2=| n(A-B)=3 n(U-(4 U B))=5
are:f:“i; {69713} 3 n(B-A)=2 Math@MUT
areal = {4,7,8,11} nA A B)=1 nA U B)=7
Ans2=| .1 = afer:;’i:{éfz}} 2=| n(4-B)=4 n(U—-(4 U B))=7
L Llaread=(5,9,10,13, 14, 16,17} n(B-4)=2 Math@MUT |
_area1={8, 13}_ i
area? ={ } n(intersect(4, B, C)) =0 n(4-B)=3
area3 ={7,10} n(union(4, B, C)) =10 n(B-4)=4
nsi<| 12 aread = {4} . n(4d N B)=0 n(C N (4 v B))=3
area5={ %} | nB N C)=2 n(Cu (4nB))=6
area6 = {11, 12} n(d U C)=38 n(intersect(4, B, C)) = 13
area7 ={3,5,9} n(Bu C)=8 Math@MUT
L Larea8 = {1,2,6}] |
[ 4 U B={4,5,6,7,8,11,12} | I I=(4 N B={area2}) ]
A0 B={4567} 2=(B-A'={area2})
AU B={2, 3,'4, 5,6,7,9,10,12} 3=(4 N B'={aread})
B nA4={811} .4=(B’= {areal, aread, area7, area8 })
Ans4 = A4-B={12} , Ans5 = S5=(C n (4 v B)={area4, areal, areat })
B,—A:{2, 3,9,10} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{2,3,9,10} 7=((A-B) n (A-C)={areal })
A N B= {2,3,9,10} .8=(A' U B'= {areal, area3, area4, areab, area7, areal8})
[(A-B) =1{2,3,4,5,6,7,8,9,10, 11} L 9=((C—-B) — A= {area3, area6, area8}) ]
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Set0l Answers for No.644121

areal ={4,5,7,12, 14} 04 A B)=1 n(A4 U B)=8

Ansl =| 1= a“rr;“32_:{{8“9}} 2= n(4-B)=5 n(U-(4 U B))=3
aread - 16 10,13} n(B-A4)=2 Math@MUT
“re“];{fl’sg’ 1172}} n(d N B)=2 n(4du B)=7
Ans2=| 1= areas =i 1o, ,2=| n(4-B)=3 n(U-(4 U B))=8

area3 =1{9, 14}

aread4 = {4,5,6,7,10, 11, 13, 16 } n(B-4)=2 Math@MUT
[ areal = {1,10} ] i
area? = {3} n(intersect(4, B, C)) =0 n(4-B)=2
area3 = {2,12} n(union(4, B, C)) =11 n(B-A4)=3
ns3—| 1 aread = { } - n(4d N B)=1 n(C N (4 v B))=1
area’ = { } n(BnC)=1 n(Cu (4 nNnB))=7
area6 = {6} n(d U C)=9 n(intersect(4, B, C)) =17
area7 =1{5,8,9,13, 14} n(B v C)=9 Math@MUT
L Larea8 = {4,7,11,15,16, 17} | J
4 v B={1,2,5,6,73809,10,11,12} [ 1 =(A v B={areal, area2, area3})
’ A4 N B={511,12} 2=(B-A={area3})
4V B={13,4,5,6,810,11,12,13} 3=0(4 n B)': {areal, area3, area4 })
BmA':{2,7,9} 4=(A n C={aread, area’})
Ansd = A-B={1,6,8,10} . Ans5 = S=(B n (4 v C)={area2, areal, areab })
B -A= {3,4,13} 6=((4 N B) U (B n C)={areal, areas, area6})
(4 U B)’: {3,4,13} 7=((B-4) U (B-C)={area2, area3, areab })
A N B'={3,4,13} 8=(B U C'={areal, area2, area3, area4, area7, area8})
| (4-B)=1{2,3,4,5,7,9,11,12,13} | L 9=((B-A4) - C = {aread, area5, area7 }) J
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Set0l Answers for No.644122

areal = {12}

area2 = 7,11} n(d N B)=2 n(d4d v B)=7

Ansl =| .1 = L 2=| n(4-B)=1 n(U-(4 U B))=4
area3 =1{3,5,6,8} _
aread — 14,010 13} n(B-A)=4 Math@MUT
””e“éf g m n(d nB)=2  n(duU B)=9
Ans2=|.1=| T 2= n(4-B)=2 n(U-(4 U B))=3

area3 =1{4,6,7,8,10} [

areat— (2.9, 12) n(B-A4)=5 Math@MUT
i areal = {2,7,8} ] 1
area? = { } n(intersect(4, B, C)) =1 n(4A-B)=5
area3 ={3,9,11,16} n(union(4, B, C)) =11 n(B-4)=4
dnsi<| 12 area4 = {10, 13} P n(4d N B)=1 n(C N (4 v B))=3
' aread= {1} - n(B N C)=1 n(CuU (4 n B))=4
area6={ } nd u C)=7 n(intersect(4, B, C) )= 16
area7 = {17} n(Bu C)=8 Math@MUT
L Larea8 = {4,5,6,12, 14,15} | ]
4w B={1,23,56,78,9} [ 1=(4 ~ B={area2}) )
' 40 B={2,6} 2=(A4' - B'={area3})
A v B={2,3,45,6,8,9,10,11} 3=((A-B) " (B-A)={1})
BnA={17} A4=(B v C={area2, area3, aread, area5, areab, area7 )
Ans4 = A-B={3,528,9} . Ans5 = S5=(C n (4 U B)={aread, area’, area6 })
B’—A:{4, 10, 11} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 v B)':{4, 10,11} 7=(A-B) U (A-C)={areal, area2, aread })
A N B= {4,10,11} '.8:(B,—A,,= {areal, aread})
L (4-B)=1{1,2,4,6,7,10,11} | L 9=(4 n (B-C) ={areab, area’7, area8}) ]
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Set0l Answers for No.644123

arealz{3é7_,82‘13,15} 04 A B)=1 n(A4 U B)=9
Ansl =| 1= arez.;e:a{S_,{ll,}IZ} 2= n(4-B)=5 n(U-(4 U B))=4
aread = 16,9, 10, 14} n(B-4)=3 Math@MUT |
“’62"1:8{412 n(d N B)=2 n(4du B)=8
Ans2=| 1= area;:re{“g! 10{’ . 1}2! 15y [ 2= nA=B)=1 n(U=(4 U B)=4
aread— 156,713} n(B-A)=5 Math@MUT
i [ areal = {8, 17} ) |
area? = {2} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {12,13} n(union(4, B, C)) =11 nB-4)=4
Ans3 =| .1= aread = {10} 2= n(4 N B)=1 n(C N (4w B))=3
' area5=1{} > n(B N C)=2 n(Cu (4N B)=7
areab={4,9} n4 v C)=9 n(intersect( 4, B, C)'):ZO
area7 ={1,5,18} n(B U C)=9 Math@MUT
L Larea8 = {0,3,6,7,11,14,15,16,19} | i

AU B={1,25,677809,11,12}
A~ B={711,12}
AU B=1{0,1,3,4,7,9,10,11, 12}
BN A={250628}
Ans4 = ’A—B:{l,g} | Ans5 =
B'—A4=1{0,3,4,10}
(4 U B)=1{0,3,4,10}
A N B'=1{03,4,10}
[(4-B)=10,2,3,4,5,6,7,8,10,11, 12}
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1 =(A v B={areal, area2, area3})
2=(B—-A4={area3})
3=(4" U B ={areal, area3, aread})
4= (A' = {area3, area6, area7, area8 })
S=(A4 n (B v C)={area2, area4, area5 })

6=((4 N B) U (4 n C)={areal, aread, area5})

J=((B-4) n (B-C)={area3})
.8:(C,—B’= {area2, area3})
9=(B N (A—C)’: {area3, area5, area6 })
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Set0l Answers for No.644124
areal ={2,3,6,9}

area? ={ } n(4d N B)=0 n(d U B)=7

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 U B))=4
area3={1,5,8} _
aread = {4,7,10, 11} n(B-4)=3 Math@MUT
“’Z“f?;i}z} n(d N B)=2  n(4du B)=7
Ans2=| 1= areas =/, L 2=| n(4-B)=1 n(U-(4 U B))=6

area3 =1{5,9,11,13}

aread = {1,2,3,4,8,10} n(B-d)=4 Math@MUT
i i areal = {2,8,9} i 1
area? = {5,10} n(intersect(A4, B, C)) =0 n(d-B)=5
area3 = {4,12,16} n(union(4, B, C)) =12 n(B-A4)=4
nsi<| 12 aread = {3, 13} )e n(4 N B)=2 n(C N (4 v B))=3
' area5=1{} > nB N C)=1 n(C U (4N B))=6
area6 = {6} n(d4d U C)=9 n(intersect(4, B, C)) =15
area7 = {15} n(B U C)=9 Math@MUT
L Larea8={7,11, 14} ] ]
A v B={7,8,9,10,12,13, 14} i 1 =(B = {areal, aread} ) 7
,Ar\Bz{lO,lZ} 2=(A—-B={areal})
4V B={3,45,6,7,810,11,12} 3=((A4-B) U (B-A)={areal, area3})
BN A=1{9,13, 14} 4=(A N B={area2, area5))
Ansd = A-B={7,8} . Ans5 = S=(4 v (B n C)={areal, area2, aread, area$, area6 })
B-A= {3,4,5,6,11} 6=((4 U B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 v B),: {3,4,5,6,11} 7=((A-B) U (A-C)={areal, areal, area4})
A N B={3,4,5611} ,8:(A’,ﬁ B = {area7, area8})
L(A—B) =1{3,4,5,6,9,10, 11,12, 13, 14} L 9=((4-C) - B={aread, area’7, area8 }) _
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Set0l Answers for No.644125

‘”e“;: {;’ E} nd N B)=2  n(du B)=7
Ansl =| 1= ajerzgl:‘{‘i ; 13} 2= n(4-B)=2 n(U-(4 U B))=6
aread = 12.3.4,6,8. 11} n(B-4)=3 Math@MUT |
areal j:‘e’asz’j’{lfi 15,17} n(d nB)y=1 n(4du B)=9
Ans2=| 1= areas = 110,161 2= n(4-B)=6 n(U-(4 U B))=6
aread = 16,7,8, 11,13, 14} n(B-4)=2 Math@MuT
[ [areal = {6, 13, 14} ]
area2 = {10, 11} n(intersect(A4, B, C)) =1 n(d-B)=4
area3 = {4,8,12} n(union(4, B, C)) =11 n(B-4)=3
gl | areat=134 | n(4 N B)=3 n(C A (40U B))=2
area5 = {9} ’ n(BnNn C)=1 n(C v (4 N B))=5
areab = { } n(4 v C)=8 n(intersect(4, B, C)'): 12
area7 = {5} n(B U C)=8 Math@MUT
L area8=1{2,7} | ]
4 U B=1{4,56,7,8,9,12,14} 1 =(B = {areal, aread})
AN B=1{57.812, 14} 2= (4~ B = {area3})
4V B=1{57%8910,11,12,13,14} 3=((A-B) U (B-A)={areal, area3})
B nA4=1{46} 4=(B n C={areas, areab})
Ans4 = A-B=1{9} , Ans5 = S=(B n (4 v C)={area2, areal, areab})

B —A4=1{10,11,13}
(4 U B)=1{10,11,13}

A4~ B'={10,11,13}
[(4-B)=1{4,5,6,7,8,10, 11, 12,13, 14} |
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6=((4 N B) U (B n C)={areal, areas, areab })
7=((C—-4) n (C-B)={area7})
8= (B’—Alz {areal, aread })
.9:(A’ N (C—B)’: {area3, areab6, area8})
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Set0l Answers for No.644126

areal = {3,5,6,8}

X [Page = 0052]

area? = (1.4} n(d N B)=2 n(4 U B)=9
Ansl =| .1 = area3:{7,9’,12} ,.2=| n(4-B)=4 n(U-(4 v B))=3
aread = 2,10, 11} n(B-4)=3 Math@MUT
areal = {6, 16} n(4 N B)=2  n(4 U B)=8
Ans2=| 1= are;;fi;;7’137}17} ,2=| n(4-B)=2 n(U-(4 U B))=7
aread = {5, 11, 12,13, 14,15, 18} n(B-d)=4 Math@MUT
[ areal = { } ] ]
area2 = {11} n(intersect(4, B, C)) =0 n(4d-B)=3
area3 ={1,12} n(union(4, B, C))=9 n(B-4)=4
Ans3—| 1 aread = {4, 6,13} . n(d N B)=1 n(C N (4 v B))=5
area’ = { } i nBnNnC)=2 n(Cu (4 nB))=7
area6 = {2,3} n4du C)=7 n(intersect(4, B, C)) = 14
area7 = {10} n(Bu C)=9 Math@MUT
L Larea8 = {0,5,7,8,9}] ]
[4 U B=(3,4,6,7,8,10, 11,12, 13} I I=(4d N B={area2}) T
o A0 B={13} 2=(4'~B'= {area3})
AU B={3,45,618,9,10,12,13} 3=(4 N B'={areas})
BnA={711} 4=(A v B={areal, area2, area3, area4, area5, area6 } )
Ans4 = A-B={3,4,6,8,10,12} . Ans5 = S5=(B n (A U C)={area2, area$, areab})
B -A= {5,9} 6=((4 N B) U (B n C)={areal, area5, areab})
(4 U B)=1{509} 7=((A-B) N (A-C)={areal })
A N B={509} 8=(A" N C'={area3, area8})
L (A—B)':{S, 7,9,11,13} ] L .9:((A—B)’—C:{areaZ,area3, aread }) i
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Set0l Answers for No.644127

areal = {3,6,8,11} _n(AmB):Z N4 U B)=7
Ansl =| 1= “re“Z;_{{l;i} 2= n(4-B)=4 n(U-(4 U B))=5
i _area4a:e{a 0.2.4,5. oy  bnBoA=l Math@MUT |
areal = {6,10, 11,13} _n(Ar\B):?) n(A U B)=10
Ans2=| 1= a“g‘;:{{;’f‘; 1125}} ,2=| n(4-B)=4 n(U-(4 U B))=4
I | aread=1{2.3.8,9] | L n(B-4)=3 Math@MUT ]
[ [ areal =1{0,6,8,10,11} | ]
area? = { } n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {2,7} n(union(4, B, C)) =14 n(B-4)=4
nsi<| 1< aread = { } 2 n(4d N B)=0 n(Cn(4uvB))=2
area’ = { } i n(B N C)=2 n(Cu (4 nB))=7
areab6 = {1,4} nd4 v C)=12 n(intersect(4, B, C) ) =17
area7 ={3,9,13,14,16} n(Bu C)=9 Math@MUT
L area8={5,12,15} ]
AU B=1{2,4,6,8912,14,15,16} i 1 =(A = {area3, aread}) ]
' 4 n B={12} 2=(4'-B = {area3})
A v B=1{3,57,8,10,11,12,13,14,15} 3=(A-B)n (B-A)={})
BnAs= {2,4,6,9,16} .4=(C’= {areal, area2, area3, area8 })
Ans4 = A4-B={8,14,15} , Ans5 = S=(B N (4 v C)={area2, areal, areab})
B —4= {3,5,7,10, 11,13} 6=((4 N B) U (B N C)={areal, areas, areab })
(4 U B)=1{3,57,10,11,13} 7=((A4-B) n (4—-C)={areal })
A N B= {3,5,7,10, 11,13} 8=(4 u C= {areal, area2, area3, area6, area7, area8 })
[(A-B) =1{2,3,4,5,6,7,9,10,11,12, 13,16 } | L 9=(4 N (C-B) = {areal, area2, area5}) ]
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Set0l Answers for No.644128

areal ={3,5,9,13,15}

Ansl =| .1 area2={ } 2 m&mgﬁ? (gﬂjBislz
nsl=|.1= ,.2=| n(4-B)= n(U-(4 v =
m‘ﬁa r‘a{l:’: 6’{ 1081 }2} 14} n(B-A)=6 Math@MUT
areal = {9, 11,12, 14} nA ~ B)=1 n(A U B)=S8
Ans2=| 1= a;Z§ff;;f2f7} 2=| n(4-B)=4 n(U-(4 U B))=6
aread = {2,3,5, 10,13, 15} n(B-4)=3 Math@MuT
i [ areal ={6,7,11} | 1
area = {12} n(intersect(4, B, C))=0 n(4-B)=3
area3 ={ } n(union(4, B, C)) =10 n(B-A4)=2
nsi<| 12 aread = { } e n(d N B)=1 n(C N (4 v B))=2
areas = { } i nB N C)=2 n(Cu (4 nB)=7
areab = {3,8} n(4 v C)=10 n(intersect(4, B, C)') =14
area7 = {0,4, 10, 13} n(B v C)=7 Math@MUT
L L area8=1{1,2,5,9} | ]
A UB:{2’3’456>758’9’ 12’13} I AIZ(BVZ{GVEGJ,CIVECHI})
' 40 B=1{2} 2=(B' —A={aread})
4 v B=123, 4’ 5,6,7,8,9,10,11} 3=((4 n B)/: {areal, area3, aread})
B nA4=1{12,13} 4=(B n C={area5, area6})
Ans4 = A4-B={3,4,6,7,8,9} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area’s, area6 })

B —A4=1{51011}

(4 U B)=1{510,11}

A n B'={51011}
(4-B)=1{2,510,11,12,13}
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6=((A4 U B) n (4 v C)={areal, areal, area4, areal, areab })
7=((C—-4) v (C-B)={area4, areab, area7 })
8=(4-C= {areab, area?7})

.9=((4-B) - C= {area2, area3, area8 })
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Set0l Answers for No.644129

areal = {2,9}

2 n(4 A B)=3  n(4 U B)=8
Ansl =| .1 = Z:ZZ?:;;;; ,.2=| n(4-B)=2 n(U-(4 U B))=3
aread— 104,10} n(B—A)=3 Math@MUT
areal = {21;6{’08,; 13} n(4 nB)=1 n(4 U B)=10
Ans2=| 1= area;_ref‘z; 70,12y 22| MA-BI=4 n(U-(4 U B))=4
aread = {3,5,10, 11} n(B-4)=5 Math@MUT
i areal = {4,6,11} | 1
area? = {17} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 = {10, 13} n(union(4, B, C)) = 13 n(B-A)=4
nso| | aret=11618) | | a4 0 B)=1 n(C A (40U B))=4
3= areas=1{ } e = n(B N C)=2 n(C U (4 A B))=8
area6 = {14,15} n4 v C)=11 n(intersect(4, B, C) ) =17
area7 ={5,7,8} n(B U C)=10 Math@MUT
L Larea8 = {9, 12, 19, 20 } | ]
4 v B={57,8,9,11,12,13,14} I AI:(sz{areal,area4}) 1
A B={511,12,13, 14} 2= (A - B= {aread})
4 v B=145,6, ?’ 10, 11,12, 13, 14} 3=(4 U B'= {areal, area3, aread})
B nA={79} 4=(B v C={area2, area3, aread, areal, areab, area7 })
Ansd = A-B={8} , Ans5 = S5=(B n (4 v C)={area2, area5, area6})
B —-A=1{4,6,10} 6=((4 N B) U (B n C)={areal, areas, areab})
(4 U B)={4,6,10} 7=((B=4)  (B-C)={area3})
A N B'={4,6,10}

8= (A'— C= {areab, area7})

9=((B-C) —A={areab, area’7, area8}) |
KEKKKKKKKKKKKKKKLKKKKEKKKKKKKLLKK LKL KKK KKK KKK KKK KL KK KL KKKEKKKLKKKKKKKKKKKK

L(A-B) =1{4,5,6,7,9,10, 11,12, 13, 14}
X [Page = 0055]




Set0l Answers for No.644130
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areal = {11, 13}
area? = {14}
area3 =1{3,6,9,10}
area4 = {4,5,7,8,12}
areal = {8,10, 11}
areal = {4,6,15}
area3 ={5,12}
area4 =1{3,7,9,13,14,16}
areal = {6, 17} ]
area? = {11, 13}
aread ={ }
aread = {5}
aread = {1}
areab = {14,16}
area7 ={3,8,9}
L Larea8 ={2,4,7,10,12, 15} |
A v B={1,3,4,5,8,9,10,12,13}

AN B={1,12,13}

AU B=1{1,2,45,67910,11,12,13}

BN A={328}
A-B=1{4,5,9,10} A
B -A4=1{2,6,7,11}
(4 U B)={2,67,11}
A N B=(26711}
(4-B)=1{1,2,3,6,7,8,11,12,13}

Ansl =| .1 =

y .

Ans2 =\ .1=

Ans3 =| . ,.2=

Ans4 =

Ans5 =

n(4d N B)=1 n(4 v B)=17
2= n(4d-B)=2 n(U-(4 v B))=5
n(B-A4)=4 Math@MUT
n(4 N B)=3 n(4 v B)=8
,.2=| n(4-B)=3 n(U-(4 v B))=6
n(B-4)=2 Math@MUT
n(intersect(4, B, C)) =1 n(4-B)=3
n(union(4, B, C)) =11 n(B-4)=2

n(4 N B)=3 n(C N (4uv B))=4
n(B N C)=3 n(C U (4 N B))=9
n(4 v C)=11 n(intersect( A4, B, C)/) =16
n(Bu C)=9 Math@MUT

1=(A v B={areal, area2, area3})
2=(B-A={area3})
3=((4 U B) ={aread})
4= (A’ = {area3, areab, area7, areas })
S=(B N (4 v C)={area2, areal, areab })
6=((4 N B) U (B n C)={areal, areas, areab })
7=((B—-4) n (B-C)={area3})
8= (A’— C= {areab, area7 })
.9:((C—A)/—B: {areal, area4, area8})
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